
[image: image1.jpg]) SIC PERMANET

| _rocus | 4
Ontario

VT INCEPIT

2\




ONTARIO

ENERGY

BOARD

	FILE NO.:
	EB‑2012-0031
	

	VOLUME:

DATE:
BEFORE:
	3
February 26, 2013
Paula Conboy

Cynthia Chaplin
Emad Elsayed
	Presiding Member
Member and Vice-Chair
Member


EB-2012-0031
THE ONTARIO ENERGY BOARD

IN THE MATTER OF the Ontario Energy Board Act 1998, S.O. 1998, c.15, (Schedule B);

AND IN THE MATTER OF a review of an application filed by Hydro One Networks Inc. for an order or orders approving a transmission revenue requirement and rates and other charges for the transmission of electricity for 2013 and 2014.
Hearing held at 2300 Yonge Street,

25th Floor, Toronto, Ontario,

on Tuesday, February 26th, 2013,

commencing at 9:29 a.m.
--------------------

VOLUME 3
--------------------



BEFORE:




PAULA CONBOY

Presiding Member




CYNTHIA CHAPLIN
Member and Vice-Chair




EMAD ELSAYED

Member
LJUBA DJURDJEVIC
Board Counsel

HAROLD THIESSEN
Board Staff
NEIL MATHER
ALLAN COWAN
Hydro One Networks Inc. (HONI)
NAIYU ZHANG
GLENN ZACHER
Independent Electricity System Operator (IESO)
SARAH ROBICHEAU
Association of Major Power
WAYNE CLARK
Consumers of Ontario (AMPCO)
RICHARD KING
Association of Power Producers of
DAVE BUTTERS 
Ontario (APPrO)
PETER THOMPSON
Canadian Manufacturers & Exporters (CME)

JULIE GIRVAN
Consumers Council of Canada (CCC)

GEORGE VEGH
Hydro-Québec Energy Marketing 


HÉLOÏSE APESTÉGUY-REUX
(HQEM)
MARK RUBENSTEIN
School Energy Coalition (SEC)

MICHAEL BUONAGURO
Vulnerable Energy Consumers' Coalition (VECC)
1--- On commencing at 9:29 a.m.


1Preliminary Matters


1CONCURRENT EXPERT PANEL


I. Shavel, A. Baziliauskas, D. Finkbeiner,
C. Hamal, Previously Sworn; M. Roger, 

J. Todd, Previously Affirmed

2Cross-Examination by Mr. Vegh



15Cross-Examination by Mr. Thompson



23Questions by the Board



26Continued Cross-Examination by Mr. Thompson



55Questions by the Board


59--- Recess taken at 11:00 a.m.


59--- On resuming at 11:26 a.m.



59Cross-Examination by Ms. Robicheau



105Re-Examination by Mr. Zacher



107Questions by the Board


113--- Luncheon recess taken at 12:45 p.m.


113--- On resuming at 2:09 p.m.


113Preliminary Matters


114ASSOCIATION OF POWER PRODUCERS OF ONTARIO - PANEL 1


M-A. Laurin, Sworn


114Examination-In-Chief by Mr. King



115Cross-Examination by Mr. Buonaguro



126Cross-Examination by Ms. Djurdjevic



149Cross-Examination by Mr. Vegh



156Cross-Examination by Ms. Robicheau



166Questions by the Board


169--- Whereupon the hearing adjourned at 3:30 p.m.





8EXHIBIT NO. K3.1:  Technical conference UNDERTAKING NO. KT1.1.




154UNDERTAKING NO. J3.1:  TO CALCULATE THE TOTAL COMMODITY COST TO AN EXPORT CUSTOMER OF 1,000 MEGAWATTS AT A TRANSMISSION RATE OF $2 and at a transmission rate of $5.80, using a reasonable weighted average value for hoep





Tuesday, February 26, 2013

--- On commencing at 9:29 a.m.

MS. CONBOY:  Good morning, everybody.  Please be seated.

Welcome back, panel.

Before we start with Mr. Vegh, are there -- I believe there are some preliminary matters, Mr. Roger.
Preliminary Matters:


MR. ROGER:  Thank you, Madam Chair.  In the transcript, I noticed that I misspoke on page 139, line 21.  When I'm referring to the Manitoba situation, it says there on line 21, "So in the OEB decision".  What I meant to say is the Manitoba Public Utilities Board decision.

MS. CONBOY:  Thank you.  Are there any other preliminary matters this morning?  If not, Mr. Vegh --


MR. THOMPSON:  Just one, Madam Chair, if I might.

MS. CONBOY:  Yes, Mr. Thompson.

MR. THOMPSON:  There is a big storm headed this way, and I have spoken to my friends and they wouldn't mind if I moved up to follow Mr. Vegh just so I don't get stuck here tonight.

[Laughter]

MS. CONBOY:  All right.

MR. THOMPSON:  If that's all right with everybody else.

MS. CONBOY:  That will be fine.  Thank you.
CONCURRENT EXPERT PANEL


Ira Harvey Shavel, Sworn


Andy Baziliauskas, Sworn

Darren Finkbeiner, Sworn


Cliff William Hamal, Sworn


Michael Roger, Affirmed


John Douglas Todd, Affirmed
Cross-Examination by Mr. Vegh:

MR. VEGH:  Thank you, Madam Chair.  I just have some questions of Mr. Finkbeiner today to clarify the issue around the firmness of export service that the IESO offers customers.

Yesterday, Mr. Finkbeiner, you mentioned that for some purpose, such as transmission loading relief, NERC treats Ontario as providing a firm service.  Do you recall that conversation?

MR. FINKBEINER:  I do, yes.

MR. VEGH:  Now, I would like to address this issue of firmness from the perspective of customers who are trying to export power as opposed to the perspective of other government agencies.

And for some context, as I am sure you are aware, this is a rate-setting exercise, and the Board of course sets rates to protect customers; not just consumers, but all customers.

And so from the perspective of the customers, I would like to address with you the IR response you discussed yesterday during Mr. Buonaguro's cross-examination.  It is VECC IR 7.  That is a response from APPrO to VECC.

For the record, the reference is Exhibit L-I, tab 23, schedule 11, and that interrogatory response provides a comparison of the firmness of service provided by Hydro-Québec and the IESO.  I am looking, in particular, at the
-- in the response, the second paragraph, the response to the question asking about the comparison of the tariffs for Quebec and Ontario.  And the answer says:
"It is important to understand that contrary to the ETS service in Ontario, the firm transmission tariff..."

That's in Quebec:
"... gives exporters the same level of priority for use of the system as Hydro-Québec Distribution."

And I understand that Hydro-Québec Distribution serves load in Quebec.  Is that your understanding, as well?

MR. FINKBEINER:  That is my understanding, yes.

MR. VEGH:  And the second sentence says that as a result of this, as a result of this equal priority of service, exporters from Quebec are able to offer capacity to neighbouring systems.  Do you see that?

MR. FINKBEINER:  I do.

MR. VEGH:  Now, I would like to clarify what it means to be able to offer capacity.  Neighbouring systems to Quebec and to Ontario have capacity markets.  Are you aware of those?

MR. FINKBEINER:  I am.

MR. VEGH:  And I understand that there are capacity markets in New England MISO, New York ISO.  Are you aware of those?

MR. FINKBEINER:  Yes, I am.

MR. VEGH:  And for those markets, either an internal capacity provider or an external producer can offer capacity?

MR. FINKBEINER:  That is correct.

MR. VEGH:  And with respect --


MR. FINKBEINER:  -- provided they meet the standards that are set out by those markets as far as the reliability and deliverability of that capacity.

MR. VEGH:  So an external producer has to qualify to offer capacity?

MR. FINKBEINER:  That is my understanding, yes.

MR. VEGH:  And they can qualify if they can offer firm delivery?

MR. FINKBEINER:  I don't know the specific rules, but I believe that's the case.  I would have to check.

MR. VEGH:  Okay, but firm delivery would be one of the requirements to offer capacity?

MR. FINKBEINER:  It would make sense, yes.

MR. VEGH:  And for these purposes, "firm" means that the market that they are exporting from offers equal priority to exporters as it does to domestic load?

MR. FINKBEINER:  I think everybody's definition might be slightly different.  There is a distinction, as I understand these markets, between the transmission service and the generation service.

When you look at transmission service firmness, there is a level of priority that is designated to the use of the line versus the firmness or the capacity value of the energy.

In essence, as I understand it, if you are selling capacity out of New York, let's say to PJM, the jurisdiction selling that capacity must be willing to curtail its own load and continue to have that capacity flow.

That's all about energy.  That's independent of what
-- the transmission system, assuming the transmission system isn't congested, and so on.  Whereas, if the capacity transaction to PJM was going over a constrained line and they had the capacity energy component, when that constrained line is limiting, the firm service users are curtailed on a prorated basis.

So you can see the difference between, if it's a transmission service reduction, it's a prorated value to the delivery of that energy versus a capacity or an energy shortfall, there is no proration.  That generator in New York is, in effect, PJM's generator, if I understand their current rules.

MR. VEGH:  And by "prorated", you mean prorated to domestic load?

MR. FINKBEINER:  Prorated to all firm service users, so it could be other transactions, as well.  It could be wheel-throughs.  It could be other exports.  It could be native firm-service users.

MR. VEGH:  I appreciate the elaboration, but I just want to see if I understand this correctly.

If there is no sort of preferential treatment for domestic load versus exporters, that would qualify as pro rata?

MR. FINKBEINER:  No -- can you repeat the question again?

MR. VEGH:  If the -- if whatever service provider is necessary to move the power from New York to PJM --


MR. FINKBEINER:  Yes.

MR. VEGH:  -- treats that power in the same way as it treats power for domestic load, would that qualify for the ability to deliver capacity and participate in a capacity market?

MR. FINKBEINER:  I am not that well versed in that level of detail of those markets.

MR. VEGH:  Okay.  Maybe we could just leave it this way.  The evidence of Mr. Laurin in the interrogatory response says that because exporters out of Quebec have the same level of priority as Quebec load, as a result of that, it is possible to sell an export capacity from a generator located in Quebec to a neighbouring system.

And perhaps I can confirm this with Mr. Laurin when he gives evidence later on, but as you read his response, do you disagree with that basic proposition?

MR. FINKBEINER:  No.  It is my understanding that Quebec can sell their generation and does sell their generation as capacity.

MR. VEGH:  And it provides equal priority to exporters as it does to domestic load?

MR. FINKBEINER:  That's my understanding, that they have that ability.

MR. VEGH:  So an exporter from Quebec can participate in a capacity market; is that your understanding?

MR. FINKBEINER:  That is correct.

MR. VEGH:  And Ontario does not provide the same level of priority for exporters as it does for domestic load; fair?

MR. FINKBEINER:  Priority with respect to transmission service or generation?  What you have been discussing is basically generation priority, not necessarily transmission priority.

MR. VEGH:  Well, can --


MR. FINKBEINER:  The allocation of a generator for the purposes of capacity outside of Ontario is not necessarily related to the transmission service.

MR. VEGH:  Let's put it this way.  Can an exporter from Ontario participate in the capacity market in a neighbouring jurisdiction?

MR. FINKBEINER:  No, they cannot.

MR. VEGH:  Now, one other area for clarification with respect to firmness of exports that I would like to address results from an undertaking that you provided after the technical conference, and that undertaking is Exhibit KT1.1.

I provided a hard copy of that that I would ask Staff to hand up.  And the reason I provided a hard copy, it is in the record, but it refers to emergency operating state action procedures of the IESO, which are right now a link in the record, and so this is the hard copy of the document that is linked.

Mr. --


MS. DJURDJEVIC:  Mr. Vegh, did we want to make this an exhibit?  Yes, so it will be K3.1.
EXHIBIT NO. K3.1:  Technical conference UNDERTAKING NO. KT1.1.

MR. VEGH:  Mr. Finkbeiner, at the technical conference you confirmed that exporters were curtailed prior to domestic load, but you qualified that statement by saying that there are two control actions which impact domestic customers prior to curtailing load or curtailing exports.

And you provided this undertaking to clarify that position; is that right?

MR. FINKBEINER:  That is correct.

MR. VEGH:  And in this undertaking, you referred to appendix E-2 of the emergency operating state actions.  And that is, as I mentioned, linked to in the evidence, but I printed a hard copy and attached it to Exhibit K3.1, and I provided a copy of that to your counsel yesterday.

Do you have a copy of that with you?

MR. FINKBEINER:  I do so.

MR. VEGH:  This document that is attached, is that the document you're referring to in your undertaking?

MR. FINKBEINER:  Yes, it is.

MR. VEGH:  Now, this document, then, appendix E-2, lists 10 control actions.  Are these control actions in order of priority?

MR. FINKBEINER:  Loosely.  You can go outside of those orders if it is deemed appropriate based on the situation and scenario.  It's a guideline.

MR. VEGH:  So can we -- maybe can we take this guideline as the order of priority, unless there is some reason to change that priority?

MR. FINKBEINER:  I can...

MR. VEGH:  And if I am going through the questions with you - I do want to ask about these priorities - if you think it is not the priority, if it is stated incorrectly or something, you will let me know?

MR. FINKBEINER:  I will.

MR. VEGH:  So I am going to go through these control actions on the assumption that they are in order of priority, and that you will correct me if you are aware of circumstances which would change this priority.

But the first control action is to curtail exports to jurisdictions not purchasing emergency energy; is that right?

MR. FINKBEINER:  Yes.  Before we start, I just want to be very clear on what this table is.  This table is the priority with relation to control area deficiencies; in other words, an inadequacy of generation.

This is not a table depicting deficiency in transmission.  So just as long as we're clear on that before we start.

Yes, the first action is to curtail exports to jurisdictions not purchasing emergency energy, as it implies that they are not in a deficient generation state.

MR. VEGH:  Well, I do appreciate that clarification.

As I understood the evidence you provided at the undertaking -- or, sorry, at the technical conference, you were trying to identify areas where domestic load may be impacted prior to curtailing exports?

MR. FINKBEINER:  That's correct.  It was in response to that specific question.

MR. VEGH:  Right.  And these are the examples you provided?

MR. FINKBEINER:  That's correct.

MR. VEGH:  I appreciate the control actions and protocols are very thick, but this is -- these are the ones you pointed to?

MR. FINKBEINER:  That's correct.  I just did not want anybody to -- there are two reasons why we could curtail transactions, and I don't want those reasons being confused with one another.

We do curtail, as we talked yesterday.  I was referring to the transmission loading relief process, which is a transmission curtailment priority.

This was a generation curtailment priority for adequacy.

It is simply I do not want people assuming that you would take the same actions and roles for transmission adequacy issues as you would generation adequacy issues.  So that is the only point of clarification.

MR. VEGH:  This you.  Again, that is helpful.

Now, we are looking at this, as I said at the outset, from the perspective of someone who's actually trying to export power from Ontario.

MR. FINKBEINER:  Yes.

MR. VEGH:  So these kind of internal distinctions that you're talking about, I'm sure they're very important, but looking at this from the perspective of someone trying to export power in Ontario, they are subject to these control actions?

MR. FINKBEINER:  Absolutely.

MR. VEGH:  Right?  And so the first control action you take that you point to in your evidence, that the ISO takes, is to curtail exports to other jurisdictions that are not purchasing emergency energy, right?

MR. FINKBEINER:  That is correct.

MR. VEGH:  Then we go down to number 3, which is another export curtailment control action.

And that is where you curtail exports to jurisdictions who have not implemented three percent voltage reduction?

MR. FINKBEINER:  That is correct.

MR. VEGH:  And number 4, this is one of the two control actions that you mentioned in your undertaking response that do affect domestic load.

And that is implementing a three percent voltage reduction?

MR. FINKBEINER:  That is correct.

MR. VEGH:  And the note in the column -- the second column in the note for point 4 notes that for load customer power quality may be affected but there is no real load cut?

MR. FINKBEINER:  That's correct.  We're not doing a full outage to consumers.

MR. VEGH:  So there is no curtailment?

MR. FINKBEINER:  Not at a real power level.  It is a curtailment by a voltage reduction.  It provides a percentage of relief in the neighbourhood of 1.7 mega -- or percent of the Ontario demand.

MR. VEGH:  But when you talk about curtailing exports, you're actually talking about not permitting the exports?

MR. FINKBEINER:  That is correct.

MR. VEGH:  So number 5, then, going down the list is curtailing exports, again, to jurisdictions not implementing a five percent voltage reduction?

MR. FINKBEINER:  That is correct.

MR. VEGH:  And then number 6 is the other control action you referred to in your undertaking response, and that's implementing a five percent voltage reduction in Ontario?

MR. FINKBEINER:  That is correct.

MR. VEGH:  And again, the note next to that under the heading description indicates that there is no real load cut?

MR. FINKBEINER:  Correct.

MR. VEGH:  So this is not a curtailment either?

MR. FINKBEINER:  You and I, I believe, have a subtle distinction between curtailment.

Power quality and the relief provided through that, we still view as a curtailment, but it is not a lights-out style curtailment that I think you're referring to.

MR. VEGH:  Well, I'm using your words.  So in actions 1, 3, 5, 7, 9, we talk about curtailing exports.

In actions 4 and 6, there is no reference to curtailing, and you say that there is no real load cut?

MR. FINKBEINER:  That's fine.  I understand.  Just being clear on the distinction.

MR. VEGH:  Number 7, another curtailment of exports?

MR. FINKBEINER:  Yes.  That's correct.

MR. VEGH:  And number 9, you curtail all remaining exports?

MR. FINKBEINER:  That is correct.

MR. VEGH:  Then it is not until number 10 that you would curtail Ontario non-dispatchable loads?

MR. FINKBEINER:  That is correct.

MR. VEGH:  So by the time you start curtailing any Ontario domestic non-dispatchable loads, you have already curtailed all of the exports?

MR. FINKBEINER:  That is correct.

One minor, minor clarification to that:  If you have a regional constraint - so, for example, the northwest is predominantly congested area.  We could be exporting out of the northwest and still shedding load in Ontario, because the energy from the northwest couldn't make it across the transmission lines.

So just a minor point of clarification, but in principle, you are correct.

MR. VEGH:  And so by the time -- you've agreed that by the time you start curtailing any domestic load subject to the northwest issue, you've already curtailed all exports?

MR. FINKBEINER:  That is correct.

MR. VEGH:  So the IESO does provide priority service to domestic loads over exports?

MR. FINKBEINER:  We will ensure energy stays in Ontario to keep the lights on here.  That is correct.

MR. VEGH:  I appreciate the advertisement that went with that, but if you could just answer factually.

[Laughter]


MR. VEGH:  You do provide priority service to domestic loads over exports?

MR. FINKBEINER:  I just want to be clear.  When we talk about priority service, we're talking about the generation capacity.

There are rules different for transmission service.

MR. VEGH:  From the perspective of customers in Ontario, you provide -- or you curtail exporters before you curtail load customers?

MR. FINKBEINER:  When it comes to energy shortfalls, that is correct.

MR. VEGH:  Well, are there other circumstances where you curtail domestic customers prior to curtailing exporters?

MR. FINKBEINER:  The TLR obligations require us to remove native service contribution on a prorated basis, as firm service providers, and to the extent you can get into extreme cases where we have to share that service.  Very extreme and has never occurred, where we did not have sufficient re-dispatch to do that, but it is a different service and a different product.

MR. VEGH:  So are you saying apart from that extreme scenario which has never occurred, you would service -- you provide priority service to domestic load over exporters?

MR. FINKBEINER:  For these generation issues that we just discussed, yes.

I have to follow the NERC rules related to transmission service provision.  If they require us to curtail on a prorated basis, we will do so.

MR. VEGH:  But in terms of the IESO's operating procedures that you provided and that you are giving evidence to, there is a priority service for domestic load over exporters?

MR. FINKBEINER:  That's correct.

MR. VEGH:  Thank you.  Thank you.  I have no further questions.

MS. CONBOY:  Thank you very much, Mr. Vegh.  Mr. Thompson.
Cross-Examination by Mr. Thompson:

MR. THOMPSON:  Thank you.  Panel, I represent the Canadian Manufacturers & Exporters.  My questions will be fairly high level, and I would like to start to understand whether we are on the same page with respect to the purpose of this exercise in which we are engaged before the Board.

Can we agree that the Board, in this particular case, is functioning as a utility rate regulator?  Is that your understanding?

DR. BAZILIAUSKAS:  Sorry, who is that directed to?

MR. THOMPSON:  Everybody.  Toute la gang, CRA, IESO, the APPrO witness and --


DR. BAZILIAUSKAS:  Sorry, could you repeat the question?

MR. THOMPSON:  Yes.  Can we agree that in this particular case the Board is functioning as a utility rate regulator?

MR. ZACHER:  If might just interject, I am not sure that is an appropriate question for the witnesses.

The Board's functioning in this proceeding is for the determination by the Board.  It is a legal question.

MR. THOMPSON:  Well, I wouldn't have thought I would get hung up on this one.

[Laughter]

MR. THOMPSON:  I thought it was a reasonable introduction of it.  I am in the hands of the Board.

MS. CONBOY:  Well, I think the Board is here today to determine a rate for the export transmission service.  We've got three experts up here and somebody from the IESO.  I think they could try to answer the question.

MR. ZACHER:  That's fine, Madam Chair.  I just point out that it is obviously for your determination and I am not sure that the answer by any of the witnesses makes any -- will make any difference, but...

MR. HAMAL:  I understand we are here to set and offer expert advice about the export tariff, which is part of the rates.  I am very uncomfortable talking about the function of the Board and advising them on what I assume they understand far better than I.

MR. THOMPSON:  Okay.  Well, I won't press the others for an answer if you feel uncomfortable with the question.

Can we agree that the utility whose rates are before the Board for determination is Hydro One Transmission?  I would have thought that is a given.

MR. HAMAL:  Yes.

MR. THOMPSON:  Did that one cause you discomfort, folks?

DR. SHAVEL:  No.

DR. BAZILIAUSKAS:  No.

MR. THOMPSON:  All right.  Now, I will put this, again, question to all of the experts.

But are each of you aware that when the Board regulates utilities like Hydro One Transmission, it does so as if they were a stand-alone commercial entity?  Are you aware of that proposition?

DR. SHAVEL:  I'm not.  I'm not sure quite what that legal meaning is.

MR. THOMPSON:  All right.  Well, Mr. Todd and Mr. Roger, are you aware of that feature of regulation?

MR. TODD:  Yes.  Mr. Thompson, first of all, our evidence, of course, speaks to rate setting --


MR. THOMPSON:  Yes.

MR. TODD:  -- with respect to your first question.  Secondly, we are aware of the points that you have been making.

MR. THOMPSON:  Mr. Finkbeiner, are you aware of that proposition?

MR. FINKBEINER:  I am not generally, no.

MR. THOMPSON:  How about you, Mr. Hamal?

MR. HAMAL:  I understand what you're saying.  I certainly don't know the legal basis of that.  I think that is consistent generally with how I understand how this is done.

MS. CONBOY:  Mr. Thompson, to be fair, Mr. Finkbeiner is here to provide us with technical advice on the operation of the IESO market.  So perhaps these types of questions could be directed to the three experts we have on the panel, please.

MR. THOMPSON:  Okay.  Now, the rate in issue here is a rate for export transmission services, and I would like to get some clarity from the experts, if I could, of all of the services that are encompassed in exporting energy from Ontario.  There has been a lot of discussion of this to this point in the hearing.

Am I correct that the transmission service on Hydro One Transmission is only part of the package of services that are required to export energy from Ontario?

MR. HAMAL:  Yes.

MR. THOMPSON:  And am I correct that the other services that are required are provided by the IESO?

DR. BAZILIAUSKAS:  Yes.

MR. HAMAL:  We need a generator to export power, so it goes beyond the IESO, if I am understanding your question correctly.

MR. THOMPSON:  Thank you.  So we need someone with energy, and then to get that energy out of Ontario we need both the IESO and the transmitter.  And I take it we need a trader.  Am I correct there?

MR. HAMAL:  That's right.

MR. THOMPSON:  And are those all of the, if you will, parties involved in accommodating or facilitating an export transaction from Ontario?

DR. SHAVEL:  And there will be parties on the other side, if it's going to New York, the New York ISO and perhaps a counterparty there.

MR. THOMPSON:  Yes.  Okay, correct.  I am looking from the Ontario side of it.

DR. SHAVEL:  Yes.

MR. THOMPSON:  Okay.

MR. HAMAL:  I don't know where your questions are headed, but obviously we need a stable operating system and ancillary services, and it's got to be set up for other reasons.

So it is a piece of a much bigger machine.  I don't know if that is relevant or not.

MR. THOMPSON:  All right.  Now, in terms of the items that go into the provision of an export service, there is a table in Exhibit K2.5.  It is at slide number 3.

This has been referenced a number of times in the discussion, and it shows an export price broken down between various components in --


MR. HAMAL:  Excuse me, I don't know what K2.5 is.  Can you describe the document?

MR. THOMPSON:  That is your book, your hearing compendium.

MR. HAMAL:  Okay, thank you.

MR. THOMPSON:  And at page 3, there is a presentation of the components of the export price in a not-constrained and a constrained scenario.  Do I understand that correctly?

MR. HAMAL:  That's right.

MR. THOMPSON:  Okay.  And within the export price in both the constrained and the not-constrained scenario, we have HOEP, which I understand to be the energy component, the uplift and admin costs, which I understand to be IESO services.  There is the export charge, which I understand to be the payment that IESO collects and pays to Hydro One Transmission, and then the friction piece is the margin.

Do I understand that presentation correctly?

DR. BAZILIAUSKAS:  The friction includes a margin, but it is not exclusively a margin.

MR. THOMPSON:  What else is in there?

DR. BAZILIAUSKAS:  Risk premium, other costs of trading.

MR. THOMPSON:  Okay.  Why is it called friction?

DR. SHAVEL:  Well, the reason, the common reason - it's a term that is often used in various cost-benefit analyses with different systems connected across seams - is because there does appear to be, putting it in physical terms, a friction that prevents trade from occurring unless there is a significant economic benefit, because markets are not perfectly coordinated.

MR. THOMPSON:  Thank you.  And then in a constrained situation, there is an item called price difference for intertie congestion revenue, and there has been a lot of discussion about that item.

Am I correct that that's an amount of revenue that the IESO collects to manage congestion?

DR. BAZILIAUSKAS:  So the IC revenue is generated in the model, and we have conceptualized it as being divided between the IC rent collected by the IESO and some undetermined amount of additional trader profit.

So it's the sum of the IC rent and the additional profit.

MR. THOMPSON:  But --


MR. HAMAL:  Excuse me.  And this is a point of contention in interpreting this model.  It's my view the only reasonable way to interpret that model, given all of the other assumptions, is that is indeed the IC rent, that we should look at that as going to the IESO.

In the context of this model -- and this is a point that I think has been lost in a lot of the discussion we've had.

In the real world, things aren't this simple.  I recognize that.  I started my testimony saying I wanted to leave a framework to understand that there are limitations in the CRA analysis.  We can use that analysis to lead to some conclusions and understanding what has happened in the marketplace, but I wanted to point those out, and we need to look at those holistically.

We have spent a lot of time talking about this narrow issue about how the real world works a little bit differently.

The one thing I am absolutely certain of is you can't go into a model that assumes perfect optimization and pick one item and say:  Oh, this one we want to separate and look at and decide where the numbers go.  We need to look at this more holistically.

So in the context of this model, this is the IC rent; the revenue and the rent is the same.

In the context of the real world, we need to figure out how to take the modelling results and draw a conclusion.  We need to take them at face value, which I have done in my analysis, and lead to the conclusion that reducing the tariff makes sense.  Or we dive in and say:  Well, what are the implication us of all of these imperfections?

We -- I reach the same conclusion, but we haven't done that with respect to this narrow issue we're talking about, its implications.

DR. BAZILIAUSKAS:  May I add to that?

MR. THOMPSON:  Yes, please.

DR. BAZILIAUSKAS:  Again, IC revenue is something generated by the model.  It's a model output.

We have not -- we've acknowledged in the report and in the joint expert issues list that it's divided between IC rent and excess trader profit.  We have not done the analysis to determine where you draw the line between -- so if you look at the margin analysis graph.  Right?  You see that the price difference for IC revenue, the way we conceptualize it is as being divided by IC rent and the excess trader profit.

We don't know which -- how big each of those components is.  We haven't done the analysis.  It is a very difficult analysis, and nobody in this proceeding has presented any evidence that relates to the size of either of those pieces.

So all we are saying is that we don't know where that line is.  We think -- we don't see any evidence that suggests that that top part, the additional trader profit, is large, but nobody has brought any evidence that we've seen that would suggest that it's small or large or of any particular size.

MS. CONBOY:  Mr. Thompson, perhaps I could ask a question in here.
Questions by the Board:


MS. CONBOY:  Is it really, then, a point of contention at all?  Because we've got -- Mr. Hamal, you have pointed out hang on the model only -- the output is IC revenue, and you need to recognize that there is an IC rent and then there is a trader profit in there.

What I hear CRA saying is they agree with you, but they haven't gone that extra step.  Their model did not go the extra step to say:  Well, just how big is that profit?

So perhaps there isn't this disagreement that we had originally thought was in place at the start of the hearing; is that correct?

MR. HAMAL:  I believe you've -- let me try to amplify this.

I believe you said that I agree that there is some extra trading profit in there.  I don't.

MS. CONBOY:  Well, I don't mean extra trading profit.  I meant --


MR. HAMAL:  Any trading profit?

MS. CONBOY:  -- within that -- sorry, I've got it turned around, then.

You're saying that there is -- that it is all the IC revenue, and it is all going to the IESO?

MR. HAMAL:  That's right.

MS. CONBOY:  But you need to take into account that there are additional costs?

MR. HAMAL:  The real world is more complicated than this.

MS. CONBOY:  Yes.

MR. HAMAL:  The real world doesn't have friction.

You know, we produced a chart -- and it is on page 10, just for a moment, of our handout -- that tried to get at the real world and tried to understand the difference.

And the first thing you do is take out the friction.  This is a modelling exercise.  The real world, there is no guarantee three bucks.

Could we go to page 10?

You know, there certainly is a HOEP.  There is a price to take out.  There is an uplift cost.  There is an export charge, which is what we're here to discuss today.

And then there is whatever the heck happens in the marketplace.  We make -- a trader makes money sometimes.  It doesn't make money sometimes, in the non-constrained world.  That's that huge scatter chart.  That is the real world.

When there is congestion, then there is an intertie congestion price.  So I am looking in the right-hand side.  There's still HOEP.  Then there is that intertie congestion price, which we don't know until there is actually some bidding at the border.

And then on top of that, there is still the uplift and the export cost, and then there is some uncertainty as to what the outcomes could be.

You know, where is this incremental trading profit?  Why is the profit different when there is congestion or when there is not?

The trader doesn't look at that that way.  The trader doesn't say -- if we go back now to the slide we were on a moment ago, page 3 -- the trader doesn't say:  Gee, when it's not constrained, I'm happy with the friction in every hour.  And that is all the trading profit I need, but I expect to get a little bit more or a lot more maybe when there is congestion.  A trader doesn't even know when there is going to be congestion ahead of time.

So you can't come in and say it's -- we accept the model with all its perfections about a linear program and you get an exact output, until we get to this part about the intertie congestion revenue and, all of a sudden, say:  We need to study this narrow little issue and give some of that up and not going to the IESO.

We either accept that it all goes there and say that is the model result, or ask the more fundamental question, which is how I think we should look at this, which is to say:  All right, that's not quite right.  What do we really think happens?  How can we look at these results, and look at the implications of the reality of the world and how it trades?

When you do that, you need to look beyond just this issue.  You need to look at the effect of trading and the effect on margins in general, the effect on the volumes that will be traded, you know.

And I am prepared and hope to get an opportunity to do that, but that is now how you need to address this issue.  You can't do it on such a narrow basis, because you will get the wrong answer.

MS. CONBOY:  Thank you.
Continued Cross-Examination by Mr. Thompson:

MR. THOMPSON:  Thank you, Panel.

Now, again, in the real world does the IESO collect all the money for an export transaction?  In other words, what is shown on slide 3 as the export price in either scenario, does that all flow through the IESO?

DR. BAZILIAUSKAS:  Well, sorry.  Again, whether all of it flows through to the IESO depends on whether there is this additional trader profit.  Right?

Which, again, you know, notwithstanding what Mr. Hamal says, sort of based on theory and critiques of the model, there is no evidence either way to suggest it is big or small.

So the way we conceptualize it is some portion of that - possibly, probably, a large portion of that - is collected in the form of what we call IC rent by the IESO.

DR. SHAVEL:  And to be clear, we didn't take anything out.  Everything we calculated as IC rent we assumed went to the IESO.

MR. THOMPSON:  Okay.  My question is --


MR. HAMAL:  Let me answer that question.

In the real world this doesn't exist.  In the real world there is no IC revenue.

That only comes out of the market.  We can't look at a given hour and say:  Oh, where was the IC revenue and where did it go?  Because it doesn't exist.

All we have in the real world is the intertie congestion rents, which was the other chart that I looked at, which is how much really goes to the ISO.

The second question that's been raised repeatedly is we need to do -- there's no basis to assume that, you know, how big this could be or how small this could be.  As a matter of logic, I think the only way to look at these results is all of it goes to the ISO, if we're going to use the model and the results.

But I will point out there is no evidence or even -- you know, the CRA's conclusion is also that they have no evidence that this trader profit is greater than zero.

As I have heard and I tried to listen closely to their answer, they said it could be as low as zero.

So if it could be as low as zero, it's my conclusion that's the only way to properly treat the model.  If the claim is we need analysis to prove what this number is before we – "this number" being the trader profit - exists in order to acknowledge it at all, if there is no such evidence and that's the standard, it seems to me the only way to interpret this is all of that going to the IESO.

MR. FINKBEINER:  May I just try one thing?  From an IESO perspective, whether you're looking at the table on page 10 or the table on page 3, my view - and I could be corrected --is that what we collect as the IESO includes everything, except, if you were on page 3, that item called "friction," or page 10, those items called "margins A through F."

We collect those items that are called market HOEP, intertie congestion price, uplift admin costs, and export charges.

The other, call them purple in my slide or off-blue, whatever, those are transactional costs within the trader's book.

MR. THOMPSON:  So I was interested in this - thank you, Mr. Finkbeiner - if you will, the collection function, which to me would be precipitated by some sort of billing function, notional or otherwise.

MR. FINKBEINER:  Our billing function includes the beige, the pink, the green and light blue.

MR. THOMPSON:  So the trader also has exercised a billing function?

MR. FINKBEINER:  We will have sort of a bilateral relationship with them where we send them a bill; they pay us.

The blue portions, whether you call it friction or these margin components, are their profit books, whether or not, Hey, I bought in Ontario at this, I sold in New York that.  This other colour is something that they will be privy to and I will have no visibility to whatsoever.

MR. THOMPSON:  All right.  That is what I was -- that's what I was after.  So you're not the collection agent for the trader for that blue piece, but you are the collection agent of Hydro One for the export charges?

MR. HAMAL:  Excuse me, these different charts have different shades of blue, and I am worried the record will be confused if we refer to this by colour.

MR. FINKBEINER:  So when I speak to it, for the record, page 3 references would be that component listed as "friction".  Page 10 references would be those components listed as margin A, B, D and E, and loss, C and F.

That would be an internal calculation within the exporter's own clearinghouse, not something that I would be privy to.

MR. THOMPSON:  And so the CRA witnesses, you haven't examined it, because you haven't had access to that information or that body of information?  Is that what I understand you to be saying?

DR. BAZILIAUSKAS:  Examined what specifically?

MR. THOMPSON:  The trader piece of this that you have been describing.

DR. BAZILIAUSKAS:  Are you referring to the friction?

MR. THOMPSON:  Well, the friction or the additional trader profit.

DR. BAZILIAUSKAS:  Sorry, can I just put that into context?  I mean, we -- we have no -- we just don't know what that number is, how big that part is.  I mean, it is probably small.

So if you take the biggest ICR number, it is $24 million; right?  So, you know, the trader profit of -- you know, it's 10 percent; that is $2.4 million.  That is not going to qualitatively affect our results in any way whatsoever.

It would probably cost us $2.4 million just to do the analysis, so we didn't do it.  And that is all we're saying, okay?

So it doesn't -- if it exists, it goes to traders.  That's all we're saying.

DR. SHAVEL:  And we didn't subtract anything.  So when we did a calculation of what we called intertie congestion revenue - and we called it that so we wouldn't be calling it intertie congestion rent, which is the IESO term - we think the numbers should be similar.  We made no adjustment for what traders may be taking out of that, if anything.

So our numbers do not take a little piece out, as kind of indicated by this chart.

MR. THOMPSON:  I'm not criticizing you --


DR. SHAVEL:  I'm just stating what the numbers are, just to be clear.

MR. THOMPSON:  I am getting the impression that it is much ado about nothing in terms of the dispute you two are having over whether -- what's in there or what's not in there, but I am just trying to understand the invoicing, if you will, and flow of funds.

Now, the other point that I wanted to get clarity on is this business about transmission rights.  This is something that appears at page 155 of the document at tab 3 of the hearing compendium filed by Navigant.

It has been discussed by others, and we have heard that the IESO auctions transmission rights, and what I would like to understand is:  What are transmission rights?  Is it like a licence?

MR. FINKBEINER:  A transmission right is an instrument.  Once you have purchased it, you can purchase
-- let me back up.  You can purchase an annual transmission right or a monthly transmission right.  Those rights cover you for every hour of every day of that period, either a year or a month.

What it entitles you to is a payment, a payment equal to the congestion value on your interface for every hour of that period where congestion occurs.

So, for example, if you bought a right for the month of March, next month, and we had congestion in one hour out of that entire month and that congestion was $10 - so the Ontario price was 60, the export price was 70 - you would receive, for every transmission right you own, $10, and that's it.

So if you bought that right for $100 hoping there was going to be ten hours or more of congestion at $10 or more, you would have lost.

So you buy whatever you value that right as.  You would purchase it in the auction.  That goes to the column on the right of that page 155, and then you are entitled to payouts for every hour there is congestion for your right period.

It does not -- there's some misconception.  It does not give you physical access to the transmission service.  It just gives you that financial payment.

MR. HAMAL:  If I could, I want to take another cut at this, because I know it is very confusing.  And if Ontario ever goes to LMP, you're going to bury yourselves under this, but that's a separate issue.

When you set up a market and you have a single uniform price in Ontario, you have to deal with the fact that sometimes people are going to want more power out of Ontario than the transmission lines can provide.  And you've got to figure out how to ration that.

The only way it makes sense - and this is how Ontario does it - is it lets people bid at the border.  So in Mr. Finkbeiner's example, there might be a $60 Ontario price, but it is 70 at the border.  And because that's what it clears and that's what people -- so New York gets the $70 power.

Well, IESO collects ten bucks.  That's the IC rents, by the way, and we could stop right there.  And if we did stop right there, that would be the consumers' money.

But in building a market, the traders come in and say, I want to be able to export power.  I can't deal with this risk.  You've got to give me some help.

And so what they do is they say, All right, we're going to have a rights holder, what Mr. Finkbeiner described.  You can pay up front, and, after you buy this right, whenever that occurs, you get the ten bucks.

And if it is in one hour, it goes to $100.  If it is zero, you get that.  So there is this payment up front that allows them to collect this cash flow on a monthly basis.  So they pay for the transmission rights, which is a financial instrument, which is -- you get this delta.  It is just a cash flow.  Then you collect the congestion that actually occurs.

The point I want to make by describing it this way is, without these transmission rights, there would be absolutely no doubt that the congestion would go to consumers.  And if we set up this auction so that -- and, you know, this is what the market surveillance panel -- and the investigation is under way.  If we set it up so what people pay should match about what has been recovered, then that congestion rent still goes to consumers.  This becomes just a separate insurance policy.

The data we're looking at, it shows it hasn't been done that way in the past, which is getting very deep, but it is that insurance policy, which is what the transmission rights are.

MR. THOMPSON:  Okay.  Let me just try to play that back, if I might, to make sure I understand it.

So that the IESO sells transmission rights?

MR. FINKBEINER:  That is correct.

MR. THOMPSON:  So these rights are not anything that are part of the resources of Hydro One Transmission?

MR. FINKBEINER:  That is correct.

MR. THOMPSON:  And so is the right limited to the right to play in a constrained situation, or does it have some broader context?

MR. FINKBEINER:  The financial payout of the transmission right only occurs when there is congestion between Ontario and our intertie point.

MR. THOMPSON:  Okay.  But does a trader have a right to participate in an export transaction without first acquiring a transmission right?

MR. FINKBEINER:  Absolutely.

MR. THOMPSON:  All right.  And so existing domestic customers holding Hydro One Transmission under contract, can they trade without acquiring transmission rights?

MR. FINKBEINER:  I'm not sure what you mean about Ontario consumers holding transmission service under contract.

MR. THOMPSON:  Well, a large industrial, for example, or distributors or people having contracted for transmission on Hydro One.  Do they need additional transmission rights to play in the export market?

MR. FINKBEINER:  Unless I'm missing something, there is no requirement for people to acquire transmission in Ontario.

MR. THOMPSON:  No, no.

MR. FINKBEINER:  Unless I am missing a nuance of your question.

MR. THOMPSON:  Well I'm assuming that there are some domestic users that, for whatever reason, want to enter into a transaction in the export market.

MR. FINKBEINER:  I see.  So if you're looking at a generator wanting to sell its power outside of Ontario to, let's say, New York and perform as an exporter?

MR. THOMPSON:  That's one scenario.  Or take a large industrial customer.  Is that not another scenario?

MR. FINKBEINER:  They would have to -- as a consumer in Ontario, you would have to come up with some other means to export power out, either by acquiring generation through bilaterals or for buying from the spot market.

We do not have linkages between those two.  Anybody who wants to transact power into or out of the province can do so without buying a transmission right.  Whether it is an Ontario consumer, generator, marketer, broker, it doesn't really matter.  They can offer or bid on the interties with or without a transmission right.

It's a hedging instrument for those who are moving power if they wanted to.  So as Mr. Hamal talked about earlier, you're basically locking in your congestion risk by buying one of these rights.  If you don't feel it is necessary to lock in that risk and manage that exposure that way, you do not have to, and you can transact on those ties without a transmission right.

MR. HAMAL:  If I could add just a bit, I don't see any reason an industrial customer in Ontario would want to mess with this at all.

It's not required for its industrial business at all.  It's not required for its service at all.

Now, it's possible that it decides that it wants to be an electricity trader and export power, because that, it sees as a business opportunity, but that would have nothing to do with running, you know, an industrial facility.

DR. SHAVEL:  And let me --


MR. THOMPSON:  I understand that.  It is the latter situation that I am looking at.  They see a business opportunity and they want to take advantage of it, and I am just trying to understand do they need to acquire transmission rights.

And what I'm hearing you say is if they want to hedge their congestion risk, the answer is yes.

MR. FINKBEINER:  If they do, yes.

DR. SHAVEL:  And let me just add, as Mr. Finkbeiner testified yesterday, there are there are a significant number of non-physical non-traders who hold rights.

I don't know if that is the majority, the minority.  I think I might have seen a report on that by the MSP.  But there is a large number of financial players in the market, and not all of them are resident in Ontario.

And that is a good thing, because that lends liquidity to this market and helps to improve its functioning.

But anyone that puts up a certain amount of collateral, registers, and meets certain other requirements can hold TRs.  And they don't have to trade, have any generation, have any position at all.

MR. THOMPSON:  No, and I understand that.  And their return is when they get the payouts from the --


MR. FINKBEINER:  That is correct.

MR. THOMPSON:  -- from the congestion pot?

MR. FINKBEINER:  That's correct.

MR. THOMPSON:  Thank you.

Now, I am just about at the end here.

Am I correct that anyone who engages in an export services transaction, in fact, uses the Hydro One transmission system?

MR. FINKBEINER:  At the interties, that is correct, yes.

MR. THOMPSON:  And right now, the charge that they're paying for the use of that system, its utility system, is $2 per megawatt-hour?

MR. FINKBEINER:  Correct.

MR. THOMPSON:  And the issue is whether that charge should go up or down or --


MR. FINKBEINER:  Just one moment.

MR. HAMAL:  Yeah, I -- there is the charge that -- you know, the fixed charge for uplift and all the other services for incremental costs that are covered, which Mr. Finkbeiner can probably talk about more than I can.

MR. FINKBEINER:  The transmission service charge is $2.  There are other charges, the uplift, IESO fees and so on, which are also attracted on a per-megawatt basis.

MR. THOMPSON:  No, I am coming back now to where I started, which was the transmission service component of this.

The issue we're struggling with is whether this charge should go up or down, down to as much as zero, as APPrO proposed, or whether it should be split into two components.  These are the options that are put forward with a two-tiered component, and there are two options that have been presented there by CRA.

Have I understood that correctly?

DR. BAZILIAUSKAS:  Well, they weren't proposed by CRA.

MR. THOMPSON:  Identified by CRA?

DR. BAZILIAUSKAS:  Well, they were identified by the IESO.  We modelled them.

MR. THOMPSON:  Okay.

DR. SHAVEL:  The tiers are different times of day.

MR. THOMPSON:  Yes, I understand that.  Thanks.

Okay.  Now, in terms of the focus of the expert analysis here - and this goes back to some questions that Mr. Vegh asked at the qualification stage of the process - my understanding is, and correct me if I'm wrong, is that the CRA witnesses had not looked at this issue, whether it should go -- well, the issue of the alternatives, you don't have any recommendation as to which way this Board should go on the selection of the appropriate rate for export services?

DR. BAZILIAUSKAS:  That's correct.  We've just provided the pieces that would inform the decision.

MR. THOMPSON:  And Mr. Hamal, your recommendation is that they go down, and right down to zero?

MR. HAMAL:  My recommendation is it goes down.  I don't come up with a specific number.  I understand there are a lot of issues that the Board needs to weigh.

I recognize there are benefits to Ontario and to consumers by it being reduced, and that could include going all the way to zero.

MR. THOMPSON:  And Mr. Todd and Mr. Roger, your recommendation is -- well, what is it?  Is it:  Don't do anything until you do a cost allocation study?  Or is it:  Go down and do a cost allocation study?  Go up and do a cost allocation study?  What is it?

MR. TODD:  Our recommendation is, first, do a cost allocation study, in order to know what the allocated costs are.

So if -- taking Mr. Hamal's position, for example, that a reduction in the tariff would be beneficial to the customers in Ontario, and therefore a reduction would be justified on those grounds, presumably you would not want to reduce that rate to something that is below the fully allocated cost.

So if, for example, affiliated costs were fifty cents you might say that would be the floor.  On the other hand, if the fully allocated costs were 2.50, then that would be a rationale for actually increasing the rate to 2.50.

MR. THOMPSON:  All right.  Thank you.

MR. TODD:  Again, you take all of the factors into consideration in setting the rate.  One of those factors would be the allocated costs.

MR. THOMPSON:  Now, does the IESO, Mr. Finkbeiner, have a position on where the charge should go?

MR. FINKBEINER:  Not at this time, no.

MR. THOMPSON:  Well, will you be taking one in argument, do you expect?

MR. FINKBEINER:  We're going to consider whether or not we are going to take a position, and what that position may be.

MR. THOMPSON:  All right.  Thank you.

Now, in terms of coming back again to a ratemaking context, one of the factors the Board normally considers in ratemaking by Hydro One Transmission and other utilities is total bill impact.  And there's been discussion about that with others, and I am looking now at slide 12 of the CRA presentation yesterday, which was K2.4.

My understanding of the discussion yesterday is whether it's the elimination scenario, the EANC scenario, or the two-tier scenarios, the total bill impact on a typical small consumer, commercial, industrial, is probably negligible.

Is it even going to show up in their bill?

DR. BAZILIAUSKAS:  It depends on the scenario.  So you're making a distinction between class A and class B load, so we have --


MR. THOMPSON:  I was taking the discussion you had yesterday, and people going through the pluses and the minuses.  Global adjustment goes up.  HOEP goes in the opposite directions, and so on.

And I took it from the discussion in each of the scenarios, compared to the status quo, that the bill impact is negligible.

DR. BAZILIAUSKAS:  Well, I mean, I think it depends on -- you mean as a -- it would appear to be the case that that is true, if you look at the changes in consumer bills as a percentage of total consumer bills.

MR. THOMPSON:  That's what I'm talking about.

DR. BAZILIAUSKAS:  Yes.  Yes.  I mean, the changes are in millions and tens of millions.  You know, that's not negligible for me, but, you know, as a percentage, it is a small number.  It is less than 1 percent, certainly much less.

MR. THOMPSON:  Well, that was my guess.  It is a fraction of --


DR. BAZILIAUSKAS:  Yes, yes.

MR. THOMPSON:  -- a percent.  So in the rate case presentation, there is normally a presentation by Hydro One at the end of its filing saying consumer impact, and they have a calculation of what this would be on the total bill of an average residential.

And my sense from the discussion yesterday is, whether it is two bucks, five bucks or zero or these tiered situations, that's hardly going to show up on the bill.

DR. BAZILIAUSKAS:  I wouldn't dispute that.  It will be a small change as a percentage.

MR. HAMAL:  It is a small change in percentage terms.  I don't know if this works against me or not.  I am always leery.  I have found in negotiations "it's small" is always followed by "and I want it".

We're here to talk about it.  There are implications, you know, if we -- a small change to the tariff which would have a small impact on the bill to the customers, in general, could kill trade.

I mean, just to put this in perspective, the tariff that would abolish and every trader leave the market would be small on the standard that you're talking about.

So there's more in play here, in terms of the health of the market and efficiency and having supply when we need it, than just the effect on the customers.

MR. THOMPSON:  No, I appreciate the public interest factors are broad.  And what I've taken from your evidence, Mr. Hamal, is the emphasis that you put is on the trade aspects of this.  It's more a market design focus than a rate-making focus.  That is my paraphrase of where you're coming from.  Is that fair?

MR. HAMAL:  I'm certainly looking broad and including things like, you know, Is the system more reliable?  And I view rates, you know, if -- let me see if I can use an example.

If we adopt a tariff that causes substantial SBG costs that drive up electricity prices, that gets back to customers.  They're going to have to pay for that.  It doesn't come through the Hydro One rate.  It comes through other places.

So it's broader than the Hydro One rate, but it is a cost to customers, and I have looked broader like that.

DR. BAZILIAUSKAS:  Could I just add to that?  Mr. Hamal I don't think is talking about anything that is outside of our analysis.  What he's saying is that we have -- he has criticized the model on many dimensions, and what he's saying is that, you know, because of his critiques, our model understates certain surplus changes.

For example, you know, we find no changes -- we find that exports do not respond to changes in the tariffs during SBG periods.  So that means those costs that Mr. Hamal was just referring to, those SBG costs, we've looked at that issue, and, based on our analysis, which I already described, the fact that there are significant price differentials, significant trading opportunities that are not exploited at current tariff levels, that suggests that small changes in the tariff are not going to affect trade during SBG periods, okay?

So Mr. Hamal disputes that.  He thinks we haven't modelled that correctly and, therefore, there will be additional costs.

So there is not something sort of outside the model that we've considered; right?  What he says is that we haven't modelled it correctly.  I think we have, obviously, right, but there's not these sort of out-of-model costs.  They're essentially costs that Mr. -- I don't want to put words in his mouth, but I think they're essentially costs that Mr. Hamal says should have been included.

DR. SHAVEL:  And I think page 15, the last page of this presentation that Mr. Baziliauskas was just referring to, the all hours numbers here basically confirm Mr. Hamal's figure - I think it is figure 4, the scatter chart - that everything seems to be clustered on average around zero.

The traders are -- some trades make money.  Some trades don't make money.  This is all based on very high level data.  So we don't have trading data, to make it clear.  This is based on looking at prices and power flows out of Ontario into New York, and out of Ontario generally, almost always; not very often the other way, but sometimes.

So the slight negative for the all hours is consistent with Mr. Hamal's evidence in his report.

When we specialize it to the SBG hours, we see these seemingly fairly large opportunities that are not being exploited.  We don't understand why.  We've thought about it and we have talked to the IESO.  We don't understand it, why.  It may have something to do with markets' coordination, timing.  It probably has a lot to do with that, but it doesn't seem to be anywhere in the magnitude of lowering the tariff by $2 will make this seeming problem go away.

MR. HAMAL:  We've gone far afield of your question, and I was hoping not to say anything, but in looking at this issue in your report and in your opening statements, what I put in my testimony was that the difficulties in trading that Mr. Laurin will talk about, and the difficulties of dealing with uncertainty caused by IESO actions dealing with SBG, is a leading contributor to why these opportunities aren't being used and why the tie lines aren't being filled.

I have listened carefully.  I don't believe CRA has ever considered whether that might be possible, even to be a contributor to the problem.

DR. BAZILIAUSKAS:  Well, we're -- I can stop now or...

MR. THOMPSON:  Oh, no.  Keep going.  That's what's a hot tub is for, so you can go under.

[Laughter]

DR. BAZILIAUSKAS:  I think, I mean, I would just -- I'm not going to talk any more about this, but I would just -- if I may, just advise the -- you know, caution the Board that every model is a model; right?

We have made simplifying assumptions.  I mean, we understand that the world is uncertain.  You know, the real world is uncertain, you know, and I have said this before.  You know, I do a lot of economic models.  They are almost always deterministic.  They simplify.  And the only question I ask is whether those simplifications bias the results; right?

So what we've heard from Mr. Hamal is a lot of critiques of the model - you know, there's trading uncertainties, there's, you know, there is this and that - but there has been no evidence that any of that has any material effect on our results.

And if you look at, you know, the scatter plots that Ira was looking at, they actually confirm our results that the trading margins sort of are distributed symmetrically around zero.  What that means is traders understand there is trading uncertainty.  Sometimes they win; sometimes they lose.

On average, the net margin, as predicted in our deterministic model, is zero, right, during non-SBG periods.

Every economic model understands that there is uncertainty in the world, but we very, very, very rarely model that uncertainty explicitly, because it is very expensive and it will not have any effect on the results.

And I would just ask you, when evaluating Mr. Hamal's critiques, you know, is there any evidence of materiality?  Is there any real evidence that there is a bias in our results?  If there is not, then I think there is no basis on which to say that our results are off.

The evidence that I was just discussing with, you know, trade during SBG periods, you know, the fact is that in the real world during SBG periods, there's, you know, according to this, a ten to $20 differential between export -- prices in export markets and prices in Ontario, including all trading costs.

What does that mean?  That means that there are significant trading opportunities, up to $20 a megawatt-hour, that are not being exploited.  And what Mr. Hamal would have you believe, that traders do not exploit trading opportunities at $20 per megawatt-hour, but they will if all of a sudden the differential goes down to $18.

That doesn't seem plausible to me.  There is other stuff going on, and Mr. Finkbeiner and Ira have talked about these things that prevent the exploitation of these profit opportunities during SBG periods; right?  And you can see that from the fact that in the real world there are almost always significant price differentials during SBG periods, and yet the exports during those periods are significantly below technical capacities.  There's something else going on here.

There is some non-price barriers to exploiting these trading opportunities, and we just find it implausible that a relatively small change in the price, a cost to a trader, is going to have a significant impact on trading during those periods.  And that's sort of the bottom line.

And the other thing that I would caution is that we know that the IESO is undergoing -- you know, they propose market amendments that will reduce the cost of dealing with SBG, and so that will -- you know, to the extent our model does understate the response of exports to changes in tariff during SBG periods, sort of the implications of that sort of mis-estimation that will be that much smaller, because the cost of managing SBG will be smaller.

MR. THOMPSON:  Thank you.

Well, Mr. Hamal --


MR. HAMAL:  I'm sorry.  I -- there is a response to this; it ties into Mr. Laurin's testimony.  I don't want to -- I am uncomfortable with the Board's patience to go through this, unless there is an inquiry on this, but I believe there is a solid response to what was just provided as far as the impact to this.

I hope there is a chance that fits within our discussion to go over that.

MS. CONBOY:  I am sure when Mr. Laurin comes later, he will get into -- he will be given the opportunity to respond to those comments.

MR. THOMPSON:  All right.  Thanks.

Now, Mr. Hamal, I understood you to say it is the uncertainty of the IESO actions that's causing this lack of trading in the SBG situation.  Did I understand you correctly?

MR. HAMAL:  That's a contributing factor.

I think the general uncertainty about when SBG occurs is another factor.

SBG, we all know what it is.  Here we have more capacity and we need to do something about that.

From a trader perspective, it's not so clear.  Clearly, it's an opportunity where you would think prices would go down because we have lots of capacity, more than demand, generally speaking.

But you don't know exactly when that happens, when the decisions will be given to spill, when decisions -- you know, yesterday I heard Mr. Finkbeiner say the IESO doesn't even know when SBG actions are taken, because some of the spills occurs on units that aren't under his -- the IESO's direction.

Clearly, the nuclear outages and actions that might be taken, a trader doesn't know about that.

And it has significant effects.  I'm told that prices can be $100 in Ontario during an SBG event.  And the reason is because the -- some of the actions that need to be taken lead to substantial reductions in output, because there are big, lumpy changes like shutting down a nuclear or spilling a lot of wind or spilling water for multiple hours.  And you end up clearing on fossil units or something else in the marketplace.

So the trader who thought we were in this excess supply condition and sold finds out that it was buying at $100 a megawatt-hour.

And that is the uncertainty, one of the elements.

MR. THOMPSON:  Right.  But there is nothing uncertain about Hydro One's ETS charge.  It is $2 now, and whatever comes out of this case, it will be a certain item.

So that's not an uncertainty that is contributing to what you're talking about?

MR. HAMAL:  That isn't, no.  But if we can reduce it so that there is more trade, then we will be less likely to get into the SBG situation in general, because we will be selling more ahead of time.

And we will be less likely to face that volatile price reaction, because there will be more volume on the export ties, which is what the CRA mentioned aren't being fully used during SBG events.

MR. THOMPSON:  All right.  Let me move on, then, to the cost allocation front.  And you are the only ones, Mr. Todd and Mr. Roger, that provide evidence here.

Now, there's been mention of Manitoba Hydro.  Now, is Manitoba Hydro like the former Ontario Hydro?  It has system operations, transmission and distribution functions all in one body?  Or is it like what we have in Ontario?

MR. TODD:  The former was correct.  It is an integrated electric utility, with generation, transmission, distribution, exporting, all in one.

MR. THOMPSON:  So the cost allocation exercise within that organization will take into account costs dealing with system operation with respect to exports; is that fair?

MR. TODD:  That's correct.

MR. THOMPSON:  Okay.  And there will be some with respect to transmission, I suspect.

Is that an important difference between the situation that faces the Board here, where system operation is being performed by IESO and not Hydro One Transmission?

MR. TODD:  Yes.  I mean, there's a need -- you would end up with a separation of cost allocation models.  Just as you would have distributors in Ontario have allocated costs, those are separate from the transmission costs, with its own analysis.

MR. THOMPSON:  Okay.  Now, in your material, there's
-- let me just back up.

Mr. Roger, you have been working or have worked with Hydro One for years, as I understand it?

MR. ROGER:  That's correct.

MR. THOMPSON:  And have you done a cost allocation for both distribution and transmission for Hydro One, in your years there?

MR. ROGER:  For distribution, yes.

MR. THOMPSON:  Okay.  And there is nothing in your evidence that gives us a hint as to where this exercise that you are recommending is likely to take us.  There is no indication of the cost allocation factors that would be applied to Hydro One's transmission assets.  Hydro One Transmission does have a whole lot of detail in its filing.

Is there some reason why you can't give us an indication as to whether the outcome of a cost allocation exercise is likely to be greater than or less than $2?

That's for either Mr. Todd or Mr. Roger.

MR. ROGER:  We didn't undertake such an evaluation, so we couldn't say what the value will be.

And right now, if memory serves me right, the transmission revenue requirement doesn't follow a traditional cost-allocation methodology of breaking down functionalization, categorization and allocation.

MR. THOMPSON:  Okay.  So you are, in effect, advocating that, that we study this yet again?

MR. ROGER:  In order to identify what the costs are that are imposed by exporters, yes.

MR. THOMPSON:  Now, Hydro, Mr. Cowan gave an undertaking yesterday to, as I understood it, to provide - this is to a Member of the Board - to provide the firm cost of transmission on Hydro One's transmission system.  And I understood it to be in comparison to the $2 per megawatt-hour of the ETS charge.

If I could just ask, is that what the undertaking was, Mr. Cowan?  As you understood it?

MR. COWAN:  Looking at the transcript last night, I think it was recorded as:  Could we derive an average transmission price for a typical customer?

And I've made enquiries of our rate people for that, and they have come back with:  For a typical Hydro One customer, the transmission works out to be about 1.2 cents per kilowatt-hour.

Now, I think, as Mr. Roger can get into, we're kind of into an apples and oranges situation here between the export rate, which is a megawatt-type thing, but I mentioned yesterday it is between 7 and 8 percent.  And that, indeed, is the case.

So the 7 percent of a typical customer's bill, that works out; if you tried to convert it into a kilowatt-hour rate, it would be about 1.2 cents.

If that's helpful.

MS. CONBOY:  Thank you.  What would a typical -- how do you define a typical hydro customer?

MR. COWAN:  That's an 800 -- using the Board's definition of 800 kilowatt-hours, that is what we normally put into our notices in that decision.

MS. CONBOY:  Okay.  Thank you.

MR. THOMPSON:  So what is that in comparison to the $2?  Can you tell me?

MR. COWAN:  That, I can't tell you.  What I have tried to do, to try to be helpful, I've asked our rate department if they can come up with what would the impact on the 1.2 cents be if the revenue requirement that's included in the current approved 2013 tariff, if we stripped out the export transmission revenue.  So if it were zero, how would that impact the 1.2 cents, to try to get an order of magnitude.

I thought maybe that would be helpful to the Board.  I haven't got that back yet.

MS. CONBOY:  Thank you, Mr. Cowan.

MR. THOMPSON:  Mr. Roger, can you help us in converting that 1.2 cents to something equivalent to the $2?  Or are you in the same boat as Mr. Cowan?

MR. ROGER:  I don't think I have the information to be able to do that, but I think that you're not comparing similar things here.

For residential customers to get the power, you are talking about taking the power all of the way to utilization voltages, and the assets that they use could be different than the assets that would be used by an exporter.

There are networks.  There are line connections and transformation charges that are included in the transmission charges for residential customers.

In the case of exporters, I am not sure that they utilize the same type of assets, and then also residential customers are considered firm power customers.  Exporters are considered in Ontario, for the most part, interruptible customers.

MR. THOMPSON:  Okay.  Well, let me ask you, Mr. Roger, do you expect the -- if the Board subscribes to going down this cost allocation road, is your expectation that $2 is too high or too low, or about the same?  What is it you expect this study to show in relation to the $2?

[Mr. Todd and Mr. Roger confer]

MR. ROGER:  We really don't know.  Without undertaking the study and identify the proper costs, we couldn't say.

MR. THOMPSON:  All right.  Those are my questions.  Thank you very much.

MS. CONBOY:  Thank you very much.
Questions by the Board:

MS. CHAPLIN:  Mr. Roger, I would like to ask you a question, and this is really drawing on your experience at Ontario Hydro, so you can advise me if you think it is not fair.

But you've described how you were involved with cost allocation and rate design on the distribution side, but that it really wasn't done the same way on the transmission side.  But now what you are recommending is that -- as I understand it, what you're recommending is a more traditional cost allocation study be done on the transmission side.

Can you help us to understand why the transmission side has not taken this course of action before, why it has historically, you know, derived the rates not using a cost allocation exercise of the type you are now recommending?

MR. ROGER:  I am trying to think back here.  I think in 1999 when there was a proceeding to determine how the transmission rates should be set, I think at that time it was decided that it wasn't required to do a proper cost allocation study for transmission.

There were three pools of costs that were identified:   network, line connections, and transformation.  And since we have a pool approach for the transmission rates in Ontario, there was no need to allocate those costs to any type of customers.  It was the revenue requirement that was recovered in totality from Hydro One and the other transmitters in the province to determine a uniform transmission rate.

So there was no need to do through the functionalization, categorization and allocation of those costs to different customers.  Pardon me.

[Mr. Todd and Mr. Roger confer]

MR. ROGER:  Mr. Todd reminds me correctly that it is still cost causality that is being used to identify the costs in the transmission into those pools, network, transformation, and line connections.

It's just that there is no customer that gets allocated to that, because it is all part of the revenue requirement that gets recovered through the uniform transmission rates.

MS. CHAPLIN:  Thank you.  That is helpful.  What is your sense of -- if the Board were to adopt your recommendation, what is the cost to do the type of exercise that you are recommending, and are there a variety -- in other words, bearing in mind that we're potentially talking about $42 million in revenue, maybe $21 million in revenue, I mean, they're not -- in an absolute sense, they are significant.  In a relative sense to Hydro One's revenue requirement they are not.

What is your sense of the cost of the exercise you're recommending, and are there less precise but less expensive alternatives to doing it?

MR. ROGER:  Definitely the cost would not be in the millions of dollars, but they could be sort of more perhaps back-of-the-envelope studies or given certain assumptions that could be used to determine, sort of identify the costs that can be attributable to exporters without having to do a full-fledged cost allocation study.

So it could be done in -- I think not in an expensive way.  In a relatively inexpensive way, you could do a study to try to identify the costs that are attributable to exporters.

MS. CHAPLIN:  Thank you.

DR. ELSAYED:  It is not just a question of the cost.  I guess the other question I would have is, like, based on the methodology that has been used so far to identify the various options, we clearly see quite a wide range, relatively, of rates.

A study like the one that you are suggesting, to what extent -- what confidence level would one have in the result, and would it be a range or would it be a specific number that would come out as a result of that?

MR. ROGER:  What we are advocating is cost causality as being the consideration to try to establish, identify what the costs are that exporters impose on the transmission system.

So you would get a value based on the assumptions that are being used.  You are trying to identify shared assets that are used both by domestic customers and exporters.  And you probably have to use an assumption on how you want to apportion those between the two customer groups.

But you still would get a value that is cost based, and that would help, then, to inform of what the export tariff should be. And given that you have identified, then, what the costs are, then you can determine what the export tariff should be and it would be clear then if there is a subsidy that is being built into the export transmission charge.

What we are saying is that before we establish the rate, we should know, have an idea of what the costs are and be explicit.  It's for other considerations, other reasons besides cost causality, the Board determines what the rate should be, there may be implicit cross-subsidy between domestic customers and exporters.  We think that that should be clear and everybody should be aware of what would happen.

MR. TODD:  With respect to your question, is it a number or a range?  A model will produce a number.  The number is uncertain, which is why in cost allocation normally in rate design, we have a revenue-to-cost ratio range.  So typically for distributors, for example, it is a range of -- your revenue-cost ratio doesn't have to be 100 percent, but somewhere between 80 and 120.  That reflects the uncertainty of the number that is the result.

Inevitably, any estimate done in these allocated costs for -- in this case would also be a number would be produced, but that number would have to be viewed as being reflective of a range of reasonableness.

DR. ELSAYED:  Thank you.

MS. CONBOY:  Thank you very much.  We will take the morning break now and come back at 20 after.

Ms. Robicheau, I think you are next in the sequence?

MS. ROBICHEAU:  I believe that's right.

MS. CONBOY:  Thank you very much.

--- Recess taken at 11:00 a.m.

--- On resuming at 11:26 a.m.

MS. CONBOY:  Thank you.  Please be seated.

Ms. Robicheau?
Cross-Examination by Ms. Robicheau:

MS. ROBICHEAU:  So I'm going to start with a few questions for the CRA witnesses, and then I have a few for Mr. Hamal and then just a very few at the end for Elenchus.  So I will just move through.

So Mr. Shavel and Mr. Baziliauskas -- I hope I have pronounced that correctly?

DR. BAZILIAUSKAS:  Baziliauskas, yes.

MS. ROBICHEAU:  I first wanted to get some clarification about table 2 on page 15 of your report.  This is the table that summarizes the different export charges and administrative costs for Ontario, as well as neighbouring jurisdictions.

And my question is just about the "uplift/ administrative costs" column, and I'm wondering if you can confirm for me that the costs reflected in this column are uniform across all jurisdictions.

So in other words, when we're looking at the "administrative costs" column, the types of charges or the types of costs that are included in that number across the jurisdictions are either the same or they're not.

So are we -- is it possible - is I guess the point I'm getting at - that there are some costs that in some jurisdictions are included in the export charge, and in other jurisdictions are accounted for under uplift/ administrative costs?

DR. SHAVEL:  That's actually a very good question.

They're not the same.  When you look at the components and in the appendices in the study - not the main study but the other study, the tariffs - there are different components listed by different ISOs and RTOs.

So they're not the same.

One thing that is specific to Ontario that Ontario has -- and there may be some similar components elsewhere, but it's more prominent -- is the CMSC, congestion management, which is a component that elsewhere in LMP markets you won't see at least as much of.

So that is one of the things that I think makes the Ontario number typically a little higher, but, you know, generally, no.

The one thing that is common is ancillary services.  They're generally the same.

But then there are other fees that vary between -- category-wise, between the RTOs.  And the numbers vary, too, for the same component.

MR. HAMAL:  And you asked about whether these are uniform.

Just to point out, in the modelling they're uniform.  CRA has assumed the $3.33.

In the real world, they vary hour by hour, so these vary dramatically, 10 times or more.

MS. ROBICHEAU:  Yes.  No, I understand that.  I just wanted to confirm in terms of the inputs that go into those numbers.  Yes.

And the other thing I wanted to just clarify and make sure I'm understanding correctly, in all of your different scenarios, evaluating the different surpluses that result, you've used the surplus based off a zero that's baselined by the status quo; correct?

DR. BAZILIAUSKAS:  Right.  So we report changes in surplus relative to the status quo.

MS. ROBICHEAU:  Right.  And since it seems we all agree that the status quo was an arbitrary number that was set explicitly without precedential value and not particularly based on much, we're effectively comparing against an arbitrary baseline that just is what it is because that's what it is right now?

DR. BAZILIAUSKAS:  Yes, that's -- I think that's right.

MS. ROBICHEAU:  Sounds right?

DR. BAZILIAUSKAS:  Yes.

MS. ROBICHEAU:  That's a fair --


DR. BAZILIAUSKAS:  Yes, it is what it is.  Yes.

MS. ROBICHEAU:  Okay.  So I guess to my mind -- and I just want to make sure I'm not missing something in what is a relatively complex analysis -- because that baseline is arbitrary, that if it's wrong -- however you want to conceptualize that -- if a number is -- increases the surplus by however much money, if the baseline is already wrong, any increase in that surplus might just mean we're now working with a number that is slightly less wrong or slightly more wrong?

DR. BAZILIAUSKAS:  Right.  It is all relative.  We're not finding the optimal tariff.  We're modelling, you know, four discrete tariff structures.

I mean, are you suggesting that there might be a better one?

MS. ROBICHEAU:  Well, I just want to understand -- I guess I just want to understand what exactly those numbers reflect, and especially because we do sometimes get mixed into this language of what's the optimal outcome or the optimal benefit.

And I just want to be clear that it -- as you have just clarified for me, that you're not actually talking about an optimal --


DR. BAZILIAUSKAS:  Right.

MS. ROBICHEAU:  -- option.  You're just looking at the comparison relative to the status quo, which really has no meaning other than it happens to be what we've gone with so far.


DR. BAZILIAUSKAS:  I think that's fair, yes.

MR. HAMAL:  To the extent these questions apply to me, you know, that reflects the Board's views.  I'm not going to say the Board was wrong.

I don't know exactly why that number was chosen.  I think having started that with the status quo makes a lot of sense.  I think you can get to the same answer about evaluating the different options no matter where you start from.

So I don't think -- if someone were to conclude that that number was wrong, that doesn't impede using the results to figure out what leads to the best outcome.

MS. ROBICHEAU:  Thank you.

And we've -- so we've talked a bit about sort of, yesterday and this morning -- and I don't intend to really go into it, but the general critique of the model you used, in that it is a deterministic model and it sort of predicts perfect efficiency and we all know the market is not perfectly efficient.  And that is sort of a general critique of, I guess, deterministic models in general.

Is that a fair kind of characterization of the very broad-strokes critique?

DR. BAZILIAUSKAS:  I mean, the model doesn't assume perfect efficiency, right.  It assumes -- we've built in certain things into the model, including, you know, for example, the friction, that prevents -- that prevents the model from -- I mean, I guess -- sorry, if I could just back up.

It depends on what you mean by "perfect efficiency."  It does, in a very technical sense, assume perfect efficiency, given the built-in impediments to trade that are in the model.  Right?

MS. ROBICHEAU:  Okay.  Right.

DR. BAZILIAUSKAS:  So it doesn't mean that we assume that the world, you know, works perfectly efficiently.  So that's the way you always sort of build -- you build imperfection, assumed imperfections into the model.

MS. ROBICHEAU:  Mm-hmm.  And I think part of that critique, if I've understood correctly, is that it doesn't do a particularly good job, other than the specific elements you've built in.

It can't -- it's not sensitive to factors that would influence trading or buying or selling that are not just price indicators?

DR. BAZILIAUSKAS:  Well, we -- if I can...  Well, let me try to answer it this way, and you can tell me if this doesn't answer your question.

MS. ROBICHEAU:  Sure.

DR. BAZILIAUSKAS:  I mean, it does take -- it does take non-price factors as given.  Right?  So we assume that, you know, there are certain non-price factors that impede trade, and then we take those as a given.  We don't model them.

MS. ROBICHEAU:  Right.

DR. BAZILIAUSKAS:  Right?  So the model, essentially, is about everybody's -- you know, all the actors' -- responses to changes in price, right because the price, you know, through the -- the tariff is the thing that we're studying, so we're looking -- and that's a price.

So we're looking at how the various actors respond to that change in the price, holding everything else constant, but, you know, over time we're changing certain parameters, like generation and so on.

MS. ROBICHEAU:  Right.  So I guess my real question is:  To the extent that there are these different factors that the model doesn't account for, because they are hard to quantify or difficult to identify and articulate or whatever those various factors that exist in the real world that don't exist in the model are, they could -- their influence on the outcome of a particular tariff could -- I guess it is fair to say that the influence could go both ways?  It could over-represent the impact, as well as under-represent it?

DR. BAZILIAUSKAS:  Well, that's a really good question, and that -- the way -- the way an economist would think of that would be to ask whether the simplifying assumptions made by the -- in the model - which every model makes, because that is what a model is; it makes simplifying assumptions - the real question is whether those simplifying assumptions introduce any bias into the results; right?  So I think -- and "bias" meaning, you know, sort of systematically overshooting or undershooting the estimation of the variable that you're interested in.

So I guess it's like you say.  You know, sometimes -- in a good model with equal likelihood, you know, the outcomes are going to sort of be on either side of sort of the estimated result.

And, I mean, we do understand that these -- like, I wouldn't sort of swear by the $42 million or -- you know, in ETS revenue to the penny; right?  It is an approximation, but the idea is that it's an unbiased, reasonable approximation.

MS. ROBICHEAU:  Your concern in evaluating the accuracy is just that any of those miscellaneous factors that might skew it a bit one way or a bit the other way aren't of an order of magnitude that would deviate too far from that $42 million number, to really simplify it, because I'm not an economics major?

DR. BAZILIAUSKAS:  They're not way off in that they're not skewed, really, and systematically biassed.

MR. HAMAL:  And that's where we differ.

MS. ROBICHEAU:  Right.

MR. HAMAL:  And I think it is worthwhile looking at the evidence and to show just how dramatic it is and how one can, without running additional models and doing additional statistical work, see it in the numbers.

And I focus on reducing the tariff, because I think that's where the Board should focus, but I think this question could be answered better by looking at the EANC option, the $5.80 tariff.

I'm going to read some numbers into the record just so you have them.  I don't think you need to look them up.  Under the CRA analysis, the reduction in exports, if you increase the tariff to $5.80, is $4,985,661.  That comes from table 3, page 20.  You don't need to look that up.  I just want to get that in there.

If working backwards, because I couldn't find it this morning, I believe that the total amount of volume in the trade in the base case is $20,978,040.  I got that number by looking at the change in ETS revenues on table 8, page 31 and working backwards from having the tariff rise from $2 to $5.80.  I just want to get that in the record so the people know where I'm getting that number from.

The bottom line is there's a 23.8 percent reduction in exports if we go to the 5.80 assumption for the tariff charge.

What I would like to turn to, if I could call it up is, Mr. Laurin's testimony, the figure on page 2.  Have we lost our screen?

MR. COWAN:  What exhibit are you referring to?

MR. HAMAL:  This is, I believe -- I don't know what exhibit Mr. Laurin's testimony is.  Perhaps someone can -- I don't think it has been entered yet, because he hasn't testified yet.

MR. COWAN:  We don't have that on our system yet.

MR. HAMAL:  Okay.

MS. CONBOY:  It was filed at the same time as Mr. Hamal's evidence was filed, October 1st.

MR. HAMAL:  No, that is the case number?


MS. DJURDJEVIC:  It is part of the APPrO report -- or, sorry, Navigant report, so at the very back as an appendix.  And I believe we gave the Navigant report an exhibit number.

MS. CONBOY:  K2.1?

MR. HAMAL:  Yes.  My report is 2.1, but I don't know that it is part of that or not.

MR. VEGH:  It is.

MR. HAMAL:  It is?  Okay.  This is -- I just want to make sure people have it before I look at it, because I want to be able to talk to these numbers.  Marc Laurin's testimony, it is page 2 of 4, and there is a chart on the bottom and it is coming up on the screen.

What we have in this is the margins, on average, on a forward basis -- the forwards at the time he did his report for 2013 and looking what margins could be locked in on a monthly on-peak and off-peak basis.

Now, this is different than the hourly basis, and part of Mr. Laurin's testimony is that the one way of managing the great uncertainty in the markets is to try to lock in longer term, and they use this as part of their trading mechanisms.

And, you know, he will speak to why, to a trader, given the uncertainties and the hour-ahead and day-ahead and all of the volatility and uncertainties with uplifts and having to manage trade through transmission rights, they look much more likely to look longer term, including these forward monthly bases.

Now, under the current ETS, on-peak is you look at that first column of numbers, if I could -- you know, it is about three bucks; right?  I don't have an exact average.  As I look at that, it may be a little bit more than that.

On the off-peak, it is a little bit higher, maybe $4 maybe in the high three range.  One would have to look at that. That's the current trading.

If you go to EANC, the $5.80 trading, it is negative on-peak in all but one hour, where it is 20 cents.  Off-peak, there is a little bit of margin, although there are some pretty big negative numbers in there.  It varies quite a bit.  Maybe it is close to zero.

So Mr. Laurin's testimony concerns the fact that, among other things, if we were to go to a trading of 5.80, this would kill trading.  The volatility and given the mechanisms of what you really need to do, the margins are wiped out.  The reasons to do things like invest in a 24-hour trading clock which is manned all the time to take advantage of opportunities, to lock in these longer-term deals, all of the rest of the trade that he needs to do is dramatically shut down.

He can speak to the basis of that, but I believe that the estimate, the trading of only a 25 percent reduction, is too small that's in the CRA analysis.

If we could turn, now, to --


MS. ROBICHEAU:  Mr. Hamal, sorry.  Unless the Board is particularly interested in allowing -- in me allowing the witness to continue, I feel like we're getting a little bit far afield.

MS. CONBOY:  Go ahead, Ms. Robicheau.

MS. ROBICHEAU:  I am hesitant to discuss a witness's evidence that isn't here to attest to it.  I take your point that if we were to accept these numbers as correct, it indicates -- the point is that it indicates that the margin on trading under the EANC tariff level is small enough that it would reduce trade.  I think that is your general point.

And you think that the 25 percent reduction is far too low, given this information?

MR. HAMAL:  Right.  And that leads to my conclusions in my analysis.  This is how we work together.

MS. ROBICHEAU:  Right.

MR. HAMAL:  I want to focus on how I view that affects the CRA analysis, in my opinion.  We can't wait for him to come on here, because I don't get a chance to do that afterward.  I need to rely on him.  We planned on being part of a panel together, but we're not going to have a chance to do that.

So what I would like to do, excepting -- subject to him being testifying that the trading activity would be reduced, now go back to your fundamental question, which is:  The CRA analysis, is this all pretty much it could go either way, or are there really some biasses here that lead to a different conclusion, because I conclude that we've dramatically mischaracterized what would happen if we -- in the CRA analysis to consumers, to producers, to trade in general, if we were to go to the 5.80?

And that's what I want to turn to is the CRA analysis to look at how those results work.

MS. ROBICHEAU:  Okay, let's do that.

MS. CONBOY:  Have you -- actually, just a minute, please.

MR. HAMAL:  I'm sorry.

MS. CONBOY:  Mr. Hamal, you have gone through your conclusions on the CRA analysis.  Are we getting into an area that you haven't provided us with evidence yet?

MR. HAMAL:  As I said in my opening statement, I wanted to provide a framework for understanding the limitations of the analysis and for understanding the implications that would happen if you step back and look at additional changes.

And I talked in my opening statement and in my testimony about things having to do with trading, about having to do with SBG and other factors.

I wanted to, in specific response to this question, show how those factors play an obvious role in showing that there is a biassed effect to the CRA analysis.

MS. CONBOY:  Okay.  Well, let's try to stick to evidence that we haven't heard yet.  Ms. Robicheau, do you want to rephrase your question?

MS. ROBICHEAU:  Well, I mean, to be fair, my question was just to the CRA, to understand the -- I really just wanted to understand that in terms of the factors that aren't accounted for in the model, they can -- it can skew the results both up and down.  And it was really intended to be more of just a general understanding question.

I certainly want the Board to have the benefit of all of Mr. Hamal's evidence.  I am happy to allow him to speak to whatever issue he feels he hasn't had the opportunity to present in that respect, subject to your interest or thoughts on that, but I...

MS. CONBOY:  Thank you.  It is your cross, and to the extent that we haven't heard the evidence yet, please go ahead.

MS. ROBICHEAU:  Okay.  So why don't you just take us through your concern about how -- on this particular point, to the extent we haven't heard it already, and then we will move on.

MR. HAMAL:  Yes.  This is new information.

If we could go to table 8 of the CRA analysis, table 8 concerns surplus changes of going to the 5.80 tariff.  And the conclusion in the table as given is that consumers see a benefit of $24.1 million.  Looking all-in to Ontario, it is minus 22.8.

And I am raising the question of:  What if we've underestimated the effect on trading?

As you look at this, the big driver to a benefit to consumers is 500 -- I'm sorry, is $50.8 million of increased export tariffs.

Well, that's if you only have a reduction of 23 percent.  If you have a reduction of 100 percent, obviously, you know, that number is zero; it actually goes negative.  You know, it is bad for Ontario in all kinds of ways.

I did what I think is a reasonable and informative estimate of how much the -- not estimate, an informative calculation.

If we reduce tariff by about 64 percent -- I'm sorry, if we reduce exports 64 percent rather than the 23 percent that's in the CRA analysis -- I use that number because it makes the math here interesting and informative.  It's not 100 percent, which would be traders pull out completely, but it is a lot more than 25 percent.  That happens to be the number where the ETS revenue change is zero.

So, you know, there's a point where you don't make any more money, and you -- because the additional tariff just discourages trade.  And it is not going all the way to zero; it is just a little bit more than twice as much reduction than was in the CRA analysis.

I think that's reasonable.  I think, given Mr. Laurin's testimony, that's going to be viewed as reasonable.

Look at the implications that has.  It means that the -- the ETS revenue number on this chart goes to zero.  The uplift cost goes, instead of -- instead of 16.6 million loss, it is a loss of 48.8 -- $45.8 million.

The loss due to the global adjustment in market prices, that gets even bigger, because that has to do with the effect of reduced exports on trade.  I don't know exactly what that number is, but the combined total of minus 10 million has to get even bigger.

So the point is, you said, is it could be unbiased.  Is it biased?  I believe it is biased in this analysis, that if we do have substantially greater reductions in trade, this number of consumer surplus goes from being a positive number to a dramatically negative number.

I mean, I calculated it could be, you know, 50 million, 60, 70 million.  I don't have an exact number, but it's negative by the tens of millions of dollars.

And that's without considering the fact that producer surplus goes down, because that's driven by the price to producers and to OPG.  And it leaves the intertie congestion rent number, which could go in different -- you know, that becomes more -- we've had enough on that and the complexities, perhaps.  But I... that is likely to -- we'll have less -- that number will probably become -- will have less trade.  So we'll have less revenue on the intertie congestion revenue, as well, regardless of who gets it.

So is this unbiased?  I believe the CRA analysis is overly optimistic on trade, with this tariff going up.  There's dramatically different outcomes, if you assume trade is reduced.  It affects consumer surplus directly.  It affects producer surplus and intertie congestion rents in negative ways to Ontario, regardless of how you determine who that -- should get the benefit of those.

And that's a bias that is in this that applies in both directions, but it is easiest to see here.

DR. BAZILIAUSKAS:  Can I --


MS. ROBICHEAU:  Sure.

DR. BAZILIAUSKAS:  Please.  The IESO paid us a lot of money to do this study.  It is an economic study.  It can fundamentally -- what we do is we have a supply curve and a demand curve.  Okay?  Economics.  Supply and demand.

What Mr. Laurin's analysis has done, which assumed -- which Mr. Hamal has relied on to draw all of these conclusions, is ignore the laws of supply and demand.  Okay?

So what he's done is he's taken in this chart and this table, what he's done is he's taken prices and export markets and prices in Ontario, assuming a $2 tariff.  That is essentially what's happening.  And he's taken that margin and he's applied a different cost to that margin.

What our model shows and what any economic model will show is that as you change that tariff, the margin before the tariff will change.  That's the law of supply and demand.  Right?

So the price in the export market will go up.  The price in Ontario will go down.  And that margin, the equilibrium margin, will change.

So to take, you know -- to assume that a margin, a margin based on a $2 tariff will still apply when you change the tariff to $5.80 simply ignores the laws of economics.  Right?

The price in the export market will change and the price in Ontario will change, and the margin will be something else completely different from what is here, and that is what our model shows.  Right?  That is why we have -- that's why we've used the model.

If all we -- if we ignore the laws of economics, we could have taken this chart and ignored all of the expense to the IESO.  But they asked us to model it so we can account for the laws of economics.  Right?

And so these numbers in themselves are -- they're meaningless, from my perspective.  They're simply meaningless because they graft on a number, a $5.80 number, onto a margin that is based on a $2 number.  Right?

So there is no bias in the results.  We have modelled supply and demand appropriately.  Our 23.8 percent reduction in exports is based on the demand and the supply that we have modelled, and there is no additional bias in our results.

MS. ROBICHEAU:  Okay.  Thank you.  I think that helps clarify the difference of opinion on that issue, as well.

So to move in a bit of a different direction, Mr. Shavel and Mr. –- or Dr. Baziliauskas and Dr. Shavel.  Sorry, my apologies.

I note the first study you did that reviewed the rates in neighbouring jurisdictions, and at the end of the first paragraph on page 16 of that report -- which I don't know if we've marked as an exhibit?

MS. CONBOY:  I think we have referred to it already.

MS. ROBICHEAU:  We've referred to it.

MS. CONBOY:  Was it not filed as part of an interrogatory?

MS. ROBICHEAU:  It was filed.  Staff 85.  I just don't know if we marked it in this --


MS. CONBOY:  I'm not sure whether we have to --


MS. ROBICHEAU:  It's been referred to.

MS. CONBOY:  -- marked it as an exhibit.  We have gone through it.

MS. ROBICHEAU:  It is in response to Staff 85, and it's the review of rates in neighbouring markets.

On page 15 -- or, sorry, page 16, at the end of the first paragraph, you state that the rate design for exports in most jurisdictions -- oh, maybe -- maybe it was 15, sorry.  Oh, hang on.  Let me.... my apologies.  Oh, there we go.  No.  It says:

"The rate design for exports follows the principles of transparency, uniformity, non-discrimination and equal treatment of market participants, and reasonable expectation of cost recovery for transmission owners."

Is the quote.  Oh, yes, it is the end of the first paragraph on page 16.

"The broad principles that fall out from this process are transparency, uniformity, non-discrimination and equal treatment for market participants and reasonable expectation of cost recovery for transmission owners."

So that was one of your conclusions from this study, and I'm wondering if you reached any conclusions about whether those principles generally result in rates that are designed based on an average cost of service or the marginal cost of service, or if you have any thoughts on that?

DR. SHAVEL:  That is an excellent question.  These rates, I believe, are all based on the average cost of service.  So specifically on the -- on the components, say, of ancillary services, and I am, as Mr. Vegh has clarified, not a rates expert, but they would be based on a total dollar amount, estimated, divided by the megawatt-hours.

So these would be base average rates, is the way it needs to be thought of, not marginal.

MS. ROBICHEAU:  Okay.

MR. HAMAL:  And I opined on this, as well.  I looked at all of these issues, and others, and concluded that for the most part, in my view, these did not influence the outcome.

I mean, take the issue, for example, of transparency.  It's important, but if each one of these rates is transparent, that need not be something we need to worry about with respect to choosing among them.

And so when you've got to choosing among them, you start looking at benefits to Ontario, and -- which of course is the thrust of my testimony from an efficiency and overall surplus and benefits perspective.

I also provided a view, while I'm not providing rate expertise here, that points down toward a marginal cost basis where the understanding that marginal costs are quite low, if not zero, with respect to the costs imposed on by exports.

MS. ROBICHEAU:  But you don't have any information or reason to disagree with the comment that in most other jurisdictions these principles have led to a rate design that is based on the average cost of service just in terms of what other jurisdictions are doing?

I understand you have opinions about what Ontario should do, but looking --


MR. HAMAL:  With the exception that -- you know, in jurisdictions where they put it at zero.

MS. ROBICHEAU:  Okay, fair enough.  Thank you.

So my last question that engages both the CRA, as well as Mr. Hamal, is just about the allocation of the OPG revenues, so the producer surplus.  So I think we all agree that any change in producer surplus, basically all of it will accrue to the OPG; is that correct?

DR. BAZILIAUSKAS:  We agree with that, yes.

MR. HAMAL:  Yes.

MS. ROBICHEAU:  And, further, that given that the OPG is a Crown corporation, that revenue ultimately flows to Ontario as a whole?

MR. HAMAL:  That's right.

DR. BAZILIAUSKAS:  Well, it flows to the government --


MS. ROBICHEAU:  Right.

DR. BAZILIAUSKAS:  -- of Ontario, yes.

MS. ROBICHEAU:  Thank you, yes.

And so I think both of you agree that insofar as that revenue flows into the general coffers of the government of Ontario, it is a benefit to Ontario as a whole.

Then, Mr. Hamal, you go a step further and say that that should be allocated to the consumers of Ontario, because they're the ones that will reap the benefit of any additional revenue to the government of Ontario; is that fair?

MR. HAMAL:  I agree with the first part, which I think was correct.

MS. ROBICHEAU:  The second part was -- and, Mr. Hamal, you agree up to a certain point, and then you take it a step further?

MR. HAMAL:  Well, I have a slightly different spin on it.  There are two cash flow streams that go to provincially-owned entities here.  One goes to OPG.  One goes to Hydro One through the export tariff.

Everyone agrees that through the rate-setting mechanism of Hydro One, that that gets passed on to consumers directly.

With respect to OPG, I don't know the exact path that that is going to take.  I don't know, for example, that that would go to the government.  It is possible, for example, it's been pointed out to me that it could be used to pay down stranded debt.  It could be used at some point in the future to offset rates to OPG on the electricity side without going through the government coffers.

There is different ways for that and decisions that will have to be made.  My view is that we should recognize that when we weigh the different options.

MS. ROBICHEAU:  Okay.  I think you have hit exactly on what I wanted to make sure I properly understood, which is that no one knows what OPG may or may not do with whatever additional revenue they may gain out of an increase in producer surplus.

Like, that question is just as -- is as much like let's play a guessing game of what the Ontario government is going to do with any money it might find from any source?

MR. HAMAL:  I think there is uncertainty and I don't know for sure.

I think it is not -- I think there are limits and bounds around it.  I think the government will set policies based on policies that weigh the interests of the province.

I think the Board may have a role in that at some point and they will weigh those issues themselves.

I don't know the exact mechanism, no, but I -- but I think the fact that it is going to an entity like OPG is something that should be weighed as -- when we have an opportunity to increase the overall pie, which is what we have a chance to do here.

MS. ROBICHEAU:  Right.  And as you said, for example, it could go towards just paying down debt or into a specific infrastructure project that doesn't necessarily equally benefit energy users, or it could go to any number -- I just want to be clear that while your argument is that it should be allotted to consumer surplus, that there is no actual information that any of us have about how that would go to consumers or if it would even accrue to consumers in a way that reflects their energy usage or means more money in the pockets of a consumer in Ontario?

MR. HAMAL:  There is a lot of uncertainty about this.  I think the Board understands this issue enough to be able to weigh it, and I don't have anything more to add.  I don't want to mischaracterize it, though.

I think it's -- there are limits.  It's not going to be spent on an infrastructure project.  I can't see how it would be spent on an infrastructure structure project that doesn't benefit consumers.

I can see how it would be -- even if it went through a tax rebate of some form, that that wouldn't in some way not directly proportional to energy bill, certainly, but go to the same body of people that are the ratepayers.

So I think it is going in the same direction.  It's not going to be just spent and wasted somewhere or spent on something unrelated to consumers.  I don't see how that could happen.  But, yes, I don't know exactly how that is going to happen.

MS. ROBICHEAU:  I think I understand your position.

DR. BAZILIAUSKAS:  If I could just add to that, by definition, it's not consumer surplus, and this is just getting kind of too economicky, but producer surplus is a surplus that in this context accrues to producers of electricity.

So it's not consumer surplus by any meaningful definition of that term.  The question here is:  Does it know ultimately to consumers, and how?  Right?

I mean, the thing -- the thing to keep in mind is that producer surplus always flows to consumers; right?  There's no -- there's no producers that aren't consumers.  The question is sort of:  What's the path?  Right?

So here it is almost incidental that, you know, the producer surplus goes to a government-owned entity.  I mean, ultimately it's going to end up with consumers one way or the other, right, because people that own privately owned businesses are consumers; right?

And it is a very, you know, complicated and tortured path, you know, from producers to consumers, and the fact is we just don't know.  And we know from past rate proceedings that the Board has made a distinction between revenues to government-owned entities, like Hydro One and OPG, and consumer bills; right?

I mean, it makes a difference and they've made that distinction in the past, and, if they hadn't made that distinction, then, you know, we wouldn't be here and we wouldn't regulate OPG's rates, because they could be whatever, because dollars flow back to consumers anyways.

But we care about what the level of rates are, just like we care about what the level of taxes are.  Taxes are -- you know, they go from, you know, me to somebody else, and somebody else to me; right?  To say that it doesn't matter what the tax rates are is I don't think accurate, right, because they all go back to consumers.

But it matters how they go back to consumers and in what proportions and when, and so on.  So the reason we didn't make that allocation like Mr. Hamal does is because we don't know; right?  But what we do know is those dollars do not offset consumer bills, and that is essentially our measure of consumer surplus.

MS. ROBICHEAU:  Okay, thank you.

MR. HAMAL:  And you've said that I should include it in consumer surplus.  I recognize it is different than standard consumer surplus.

But I also realize it is not producers that are independent power producers that are going to issue dividends.

I would like to quote the CRA report:

"That revenue flows to OPG's bottom line, which in turn affects Ontario's fiscal balance, to the benefit of Ontario taxpayers and consumers."

All I'm saying is I agree with that and I think the Board should recognize it.

MS. ROBICHEAU:  Okay.  Thank you.

Now comes the part where we focus on your report, Mr. Hamal.  So I apologize, because I think my first few questions are probably going to be a bit basic, because much of your analysis, as I understand it, really centres on, like, a basic economic theory and sort of critiquing it in lines with what economic theory would predict would happen in certain scenarios, if that's generally a fair comment.

MR. HAMAL:  I mean, I don't really understand that, but let's move on with that as background.

MS. ROBICHEAU:  Let's move on.  Okay.  I guess I want to make sure I'm understanding.

So my first question is:  You begin by talking about that in common economic discourse -– or, sorry, in common
-- that it is general economic wisdom that eliminating tariffs improves economic efficiency.  I think you say it on the very first page of your report, actually, if you want to just go there.

I just wanted to understand, because my understanding is that in -- in general economic discourse, tariffs are generally understood to be arbitrary taxes on trade.

Is that a fair characterization of just tariffs in general, what they are?

MR. HAMAL:  I mean, tariffs are a tax on trade.

Arbitrary?  I mean, there is usually some process by which they came up with, and even here we're trying to come up with one that amounts to a tariff and there is a process we're trying to use to come up with it.

I'm not sure what you mean by "arbitrary."

MS. ROBICHEAU:  Well, I guess my point is that there
-- one might draw a distinction in a -- what is in effect a service charge, a charge for service, versus a tax on trade that is intended to encourage or, generally, I guess, discourage trade.

MR. HAMAL:  Okay.

MS. ROBICHEAU:  Or protect the Canadian -- protect domestic markets, or producers or manufacturers or something like that.

Like, I just want to be clear, because you talk a lot about general economic theory and practice and what that tells us about tariffs and economic efficiency.

But my understanding is that there are different things that might be called a tariff, and I just want to make sure my understanding is correct, that there is a difference between -- in terms of how a market would respond, or the efficiency factor of a charge for service versus a tax that is intentionally intended to discourage imports or exports, as the case may be.

MR. HAMAL:  Yeah.  Let me -- yes, there could be a service charge that's directed at recovering certain costs, and it is tied to providing that service.

You know, doing that and getting that cost right, which will be a positive number, will lead to more efficiency because we're properly pricing that product, which -- then there can be trade barriers or tariffs that are put on for other objectives having to do with trade in general, that aren't tied to a cost.  And those would be very different characteristics.

MS. ROBICHEAU:  And I think I understand in your report that your argument is that the ETS tariff should be based on the marginal cost of that service delivery, and that that cost is very close to zero; is that accurate?

MR. HAMAL:  No.

MS. ROBICHEAU:  Okay.

MR. HAMAL:  My analysis has to do with creating benefits to Ontario.  Let's do what is in the best interests of Ontario.

MS. ROBICHEAU:  Okay?

MR. HAMAL:  I do make a note that I think if you did this on a marginal cost basis, you probably would come out somewhere in the same range.  I mean, I have a sentence fragment on that, but the thrust of mine has to do with creating benefits for Ontario.

MS. ROBICHEAU:  Okay.  So -- okay.

And so do you -- is it your position that the ETS tariff should be set based on total benefit for Ontario, independent of what the cost recovery figure suggests it should be?  That the decision should be driven by the total surplus analysis, versus the prescribed principle of cost recovery in rate-setting?

MR. HAMAL:  My analysis is an economic analysis focussed on providing benefits to Ontario.

Costs that are directly attributed to exporting certainly should be included.  I mean, they should pay the uplift costs that cover the service they provided, which are in here and I don't think anyone is disputing.

If there were direct marginal costs associated with exporting, then you would get the best outcome if you made sure that the export cost included those.

When we look at the CRA analysis, there are none.  So if we look to optimize the outcome based on that analysis, since there isn't such a cost in there, that doesn't contribute to a reason why you would want to do it.

If you did a more comprehensive analysis, whatever that means, and there was a true marginal cost, the economic answer which gives the most efficiency would include that in the tariff.

There is no -- I think -- I'm pretty sure -- I'm certain there's no way you would optimize at an export level that was below the true marginal cost of exporting.

MS. ROBICHEAU:  Okay.

MR. HAMAL:  You know, as a matter of economic logic you wouldn't come out there.

MS. ROBICHEAU:  That is not the number you would end up with?

MR. HAMAL:  Yes.

MS. ROBICHEAU:  Just if you crunched the numbers, you shouldn't, by definition, get a number that is less than that?

MR. HAMAL:  Yeah, I don't think so.  I think that's right.

MS. ROBICHEAU:  Okay.  I think I understand.

And did your analysis consider - I don't think I saw it, but again, I may be mistaken and I may have missed it - the impact of Ontario unilaterally eliminating its tariff when all neighbouring jurisdictions continued to charge a tariff?

Because my understanding is that that actually leads to greater economic efficiency in the total market, because it has a trade-distorting effect.

MR. HAMAL:  I mean, I -- the CRA analysis studied that case.

MS. ROBICHEAU:  Mm-hmm.

MR. HAMAL:  Their zero tariff case has zero export tariff on Ontario, and remains the status quo in all neighbouring regions, including some zeros out there.

That analysis is what I relied on, both directly and then looking at other shortcomings in that analysis, to further support the conclusion that cutting the tariff would create value for Ontario.

MS. ROBICHEAU:  So you don't think it would have problematic trade-distorting effects for Ontario to not charge a tariff when all neighbouring jurisdictions do?

MR. HAMAL:  Well, I don't know what you mean by "problematic."

I think it would create value.  I think it would be better still if exporter -- if neighbouring markets were to cut their tariffs to zero.

MS. ROBICHEAU:  Okay.

MR. HAMAL:  But that is not before us.

MS. ROBICHEAU:  Okay.  And I guess this ties in and maybe you have answered it -- I apologize if you have -- but my understanding, then, is that your analysis of those benefits to Ontario, you didn't take into consideration how that -- it might affect competitive positions of companies in Ontario that compete with customers receiving exports outside the province?

MR. HAMAL:  Could you -- I didn't follow.

MS. ROBICHEAU:  Yes, sure.

MR. HAMAL:  Who was it you wanted me to see where we were --


MS. ROBICHEAU:  I mean, I'm just trying to follow your analysis, because your -- you know, it's -- it's largely just you are applying economic theory to these particular case studies and reaching conclusions, so I am just trying to follow the guiding principles, I guess, of your -- of the economic theory that underlies your analysis.

And my understanding is that one thing that happens is if one jurisdiction has no tariff and all of the other jurisdictions that it trades with do, that that can affect -- that can affect the competitiveness of companies within Ontario with companies outside Ontario that are receiving those discounted -- that discounted energy and presumably reaping some benefit from that?

MR. HAMAL:  So by companies, are you talking about consumers of electricity?

MS. ROBICHEAU:  Yes.

MR. HAMAL:  As opposed to generators?

MS. ROBICHEAU:  Sorry, yes.

MR. HAMAL:  They are both -- very different.

MS. ROBICHEAU:  Yes.

MR. HAMAL:  So the competitive effects of Ontario industrial firms from cutting the tariff --


MS. ROBICHEAU:  Right.

MR. HAMAL:  -- is the question?  I -- there's a class A and class B customer issue here, which, you know, I – in the entirety of my report, I didn't try to distinguish the two.  I understand that is a difference, and that may play a role in terms of exactly what goes on here.

But in terms of customers overall, they will benefit from this reduction.  It sounds -- you know, you have to look at how the pieces work and the effect on rates and tariffs and feedback, and that's all through the analysis of what we did.  But those benefits, they're the ones who are -- so that improves their competitiveness.

It's not the same in terms of what goes on in neighbouring markets, and this gets at the issue that Dr. Baziliauskas mentioned a while ago about:  Do we look at the elasticity, and what would have happened in neighbouring markets?  I mean, we're talking a couple of thousand megawatts, at most, of trade.  MISO is 150 megawatts.  PJM is ballpark 1,000 megawatts.  New York, New England, these are huge markets.

The price effects there, you know, on the margin, there is always some price effects, but it is trivial.  That is not going to change.

There will be a little more trade.  I think Ontario ought to look at the effects on Ontario, which is where we focussed, and that will benefit those industrial firms by cutting the tariff.

MS. ROBICHEAU:  Okay.  So do you -- you referenced the fact that in the CRA report they distinguish between class A and class B customers, and you just looked at all customers as one conglomerate.

But I believe CRA's conclusion was that basically class A and class B customers are inversely affected by the tariff going up or down in terms of what they actually pay on their energy bill.  And do you disagree with that conclusion?

MR. HAMAL:  I assume they've done the math right.  I have looked at it.  The difficulty is the class A and class B distinction represents, as I understand it, a policy decision by the Board, and perhaps others.  I'm not deeply involved with that issue.  That policy makes sense to those parties and that was why it is part of the Ontario market.

I'm not trying to offer a judgment about that and get in the middle of why that makes sense and whether that is good or bad.  I thought it was best for me to just stay away from it.

MS. ROBICHEAU:  Mm-hmm.  Okay.  And I just have one question about SBG, and I really don't want to wade into it too much, but I just wanted to clarify that your analysis of SBG is based on your qualitative expectations of what the impacts on trade would be?  You didn't actually conduct your own modelling or financial or numeric analysis of the expected impacts?

MR. HAMAL:  No, I have not done a complete analysis of the market.  I've drawn on the fact that we've got, for example, 20 nuclear outages at $2 or $3 million apiece.  The conclusion that SBG would not -- not be affected doesn't make -- not only does it not make sense, but you can point to why in the model the modelling is wrong.

It has to do with the ties being full when, in fact, they are not, and the fact it doesn't take much to cause a substantial cost to consumers for managing SBG that dwarfs the number we're talking about here.

And I left that more generally, because there is a lot of moving parts to this.  There are contracts for spilling steam and wind that we don't have the details on, et cetera.

Really, we don't have the data to do that correctly.

MS. ROBICHEAU:  Were you able to -- or it may be a question of did you or were you able to look at the impact of eliminating tariffs or service charges in other jurisdictions on this type of issue?

MR. HAMAL:  I don't know of anyone who is facing the SBG problems as severely as Ontario is.  PJM has had issues in that area.  There have been some others, but the issue in Ontario, I believe, is unprecedented.

I have not gathered data or found a place that would give -- you know, and I don't know where they have tied a change in tariff to that issue.  So I don't know where one would look for that.  I thought a little bit about it, but I don't know where to start to find some data from other markets.

MS. ROBICHEAU:  Okay.  I lied.  I have two more little questions.

On page 9 of your report, you mention a two-tiered approach with a charge of 2.50 in the on-peak period, and then zero for off-peak.

MR. HAMAL:  Page 9?

MS. ROBICHEAU:  Just a moment.

MR. HAMAL:  Can you point me --


MS. ROBICHEAU:  Yes, I can.  Just one second.  Let me find it myself.  So just at the end, at the bottom of the last paragraph on page 9 of 31, it says, "If a $2.50/MWh on-peak premium is chosen", and you say, "consistent with Tier B analysis", but the tier B analysis, I believe, proposed 3.50 per megawatt-hour:
"... it should be added to a zero off-peak rate.  The resulting tiered structure would then be zero in the off-peak period, $2.50/MWh on-peak."


I was wondering if there was a source for that 2.50 number or this is your sort of best -- you presenting an estimate just based on your understanding of the issues and your own considerations, or if there was a calculation or some particular source for that number of $2.50?

MR. HAMAL:  Yes.  If we could call up my page 27, figure 7, I found the tiered options possessed a number of challenges in trying to assess where we were and how those worked, in part because there is just two that were studied, and how do you draw a conclusion in regards to the range of options that could be there and how do you weigh those options?

So what I did is I created this chart.  This chart shows the off-peak tariff and on-peak tariff.  The zero-zero point we have talked about a lot.

If you could look at that, that is no tariff, and you see, relative to the status quo, an Ontario surplus of 17.6 million - I just want to lay the background so we can get into this issue - and a consumer surplus of 17.1.  That consumer surplus is -- was based on a calculation before we knew how the producer surplus worked.

I think it is fair to just ignore that.  I think that if I could eliminate that from the slide, I would.  I think the Ontario surplus overall is obviously what we have spent a lot of time talking about, and in all of these charts I'm going to show you, we can just look at those numbers.

Anyway, so we have the zero-zero case.  We have the $2 case on and off, which shows a zero surplus.  That is our benchmark.  And we had the EANC case, which is 5.80, on and off.  We have had the negative surplus of $22.8 million.  That we talked about a lot.

For the first time, we're talking about the tiered options, which include tier A and tier B.  And with this format I was able to provide sort of a visual picture of where they fit in terms of the choices that were out there.

And tier B shows a $17.6 million surplus, tier A a $4.1 million surplus.  And I step back away from this.  Again, you run a model.  You can't run every case in the universe.  You step away and try to decide:  What conclusions can you reach?

And when I look at tier A, one way to think about tier A is, Gee, starting from a zero tariff, what do we gain by adding 5.80 on-peak?  And what we gain is a loss of $13.5 million.

So if we can maximize -- using these numbers, maximize the benefits to Ontario by cutting to zero, we lose a lot of that if we go out to tier A and increase the on-peak price.

To me, that was really powerful why we would want to not go in that direction, but I was stuck with number B here, and there is no easy way to compare those two.

But I noticed that the status quo, the no-tariff in the EANC case, obviously they're the same on- and off-peak, and they're somewhat linear in terms of the surplus, and by cutting it by two bucks you go to $17.6 million; increasing it by 3.80, we go up by 22.8 million.

It seems somewhat linear in between those two.  It is a bit of a reach.  But it is the only data we had.

So I created the chart on the next page -- figure 8, if we could go to it -- and I made up tier C.  This is merely looking at the Ontario surplus if we had a dollar on- and off-peak.  And I estimated with the best information I had, which was the CRA analysis, that that would produce a surplus of $8.8 million, halfway in between.

My view of this?  Given the assumptions here in the analysis, probably a pretty good guess.  But it is a bit of a leap to just assume it's going to be in the middle there.

But that allows me to do some interesting things.

It says:  Now I can compare tier B to something.  Now I can say if I accept that cutting the tariff to a buck on- and off-peak produces some surplus, what's the effect of adding $2.50 on-peak.  Because now it is not 3.50; it is an additional 2.50 on-peak.

And I found that interesting, because it said we clearly are getting benefits by cutting the off-peak one; that's where most of the benefits are coming from.  And they're probably even greater than this, if you think about the SBG issues that I mentioned.

But on-peak, here we see a benefit of 2.9 million, if I am doing that right, maybe it is $3.9 million, if I added an on-peak premium of $2.50.

And then if I cut it and if I added it to the zero case and added 5.80, I got that huge negative number I mentioned a bit before.

I took those two data points and I plotted the curve on figure 9.

This curve is a bit of a leap, because I only have two data points and there is a lot of moving parts here, but it allowed me to get some -- some sense of how to look at these tiered options.

What you find is if we -- you know, the base case or any of the ones we've talked about up until this moment, the cutting the tariff and we -- go to EANC, if we start that as the base case and just think about what we have learned from these two cases about adding an on-peak premium, you find there is the potential for a $2.50 -- if we go to -- if we go to 2.50, which is that one number I used, which is in your question, it looks like you add a little bit of extra dollars here; maybe Ontario benefit of $3 million or so.  The math is in here, I'm sure.

But if you go too far, it's dramatically, dramatically reduced.

What you referenced, the question that you asked me about and the reference upfront is, if we do add a premium to the on-peak tariff, I think it is important to realize that what we do off-peak seems to me to be very clear; the lower the better, off-peak.  It is overwhelming in that direction.

These results give some ambiguity that there might be some potential for increasing the on-peak tariff by a small premium and getting some benefit.

Now, I didn't stop my analysis there.  I looked at:  What's the potential of this actually occurring?  And we run into some additional problems.

First of all, it is not very big.  We're playing with a tariff.  We're adding, you know, $2.50, to try to get, you know, a very small increase to Ontario in terms of the benefit that comes from that.  That's not where most of the trading is.

The modelling that was done -- well, the tariff, first of all, that's been proposed is with Hydro One's assumptions about what's on-peak, which is a 12-hour product.

That's not how traders work.  So this is the first time where that uniformity issue becomes a real problem.  Traders deal on-peak with a what they call a 5-by-16, five days a week, 16 hours a day.  If you added in for 12 hours a day, you're going to create some additional friction, you know, difficulties for traders.  They need to understand that product that doesn't fit in with how electricity is traded across North America that way, because it is a different element.

The other issue I have, frankly, is in the CRA analysis, the -- when they did this study, they looked at what they called "on-peak" as being the highest load hours, the highest-priced hours.

Well, this "on-peak" definition is an hour; it is clock time.

And I use the number in my analysis but only 70 percent of the true on-peak periods, the true clock hour on-peaks, are in their on-peak analysis based on how he used the load.  So they did an analysis based on load levels to try to characterize what was happening with hours that would be established by a clock, and I think there's some serious differences between those two.

So my conclusion is this $3 million benefit that looks like you might get if you might hit this just right, we really don't have any solid evidence that there is a gain here.  I think it is quite iffy.

I think there are a lot of reasons why you may not be there at all, and you may make a mistake by just disrupting the market.

But if you do decide to do something like that, don't limit yourself to the two cases that were done by CRA.  Let's recognize there is clear value in reducing the off-peak period, because that is where the value to Ontario is mostly coming from.

MS. ROBICHEAU:  Okay.  Thank you.

And my last question for you, Mr. Hamal, is:  Do you have -- did you look at or did you have any information about the trade impacts when the tariff was raised from $1 to $2?  Or is that something you considered in your analysis?

MR. HAMAL:  That's funny.  I guess I just considered it in that analysis I just showed you.

MS. ROBICHEAU:  Well --


MR. HAMAL:  It's going from --


MS. ROBICHEAU:  In terms of actual trade impacts, like the -- the actual numbers of when the tariff was historically moved from $1 to -- up to $2, and the trade impacts that followed from that.

That information might not be available.  I don't know.

MR. HAMAL:  Yeah, I did not look at any data for that change, no.

MS. ROBICHEAU:  Okay.  I am conscious that it is 12:30.  I have about 10 minutes worth of questions, just a few for Mr. Finkbeiner and then the Elenchus.  So...

MS. CONBOY:  Please proceed.

MS. ROBICHEAU:  Okay.  Mr. Finkbeiner, do you have a sense of how frequently the IESO charges congestion rent?  Like, I don't know if it is as a portion of on all exports, or...

MR. FINKBEINER:  I really don't have that information available, actually.

MS. ROBICHEAU:  Okay.

MR. FINKBEINER:  I'm not sure if it is in the MSP report as far as the frequency of congestion.  If anybody else does, I don't know.

MS. ROBICHEAU:  I didn't see it, but I haven't had a chance to read it in detail.  I just thought it was worth inquiring if you knew.

The other question I had for you is:  I'm not sure if this relates directly to transmission rights or if there's other mechanisms, but are there means by which an exporter can limit the likelihood of being constrained off of the grid?

So basically, if your -- as far as exports go, is it sort of all one model, where anyone may be constrained off at any point because they're considered non-firm?  Or are there measures individual exporters can take to manage the risk of being constrained off the system?

MR. FINKBEINER:  A number of parts to the answer to that question.

If we were talking about transmission service curtailments, all exporters are treated the same and are designated a firm transmission service.  So when we get into curtailments, we have to be consistent with FERC 888, which is built into the NERC TLR process.  And those sorts of provisions require, given that we give transmission service designated as firm in that process, equal treatment, they are treated equally.

With respect to other curtailments that may occur on the system, we see all loads in Ontario in one of two classes.  And when I say "in Ontario" I mean all loads in the IESO-administered markets, in one of two classes.

We have the forecast non-dispatchable load, your residential industrial-type loads that are not putting in a bid.  We forecast the amount that needs to be served and then they will be served.  And that would be the load that Mr. Vegh was questioning about in his earlier example, where we were cutting exports.  That last item, those are those loads.

All other loads, which we would consider as bid loads, would be curtailed based on their economic merit order.  In other words, an exporter who was willing to pay $80 would stay on longer under an adequacy problem, or as you start going through the supply and demand curve, would stay on and be provided for longer than somebody who would be offering at $50.  Those who are willing to pay the most are the ones you would service first.  As you get into shortage, the price increases and you start taking those bid loads off.

So from a transmission service perspective, everybody is treated on a prorated basis, but from an economics -- from an energy perspective, it will be best done on an economics basis.

MS. ROBICHEAU:  And do you have a sense, whether it is a specific percentage or number or just a general sense, of how frequently exports are, in fact, constrained off the system?

MR. FINKBEINER:  It's with great regularity that exports are not economic and not flowing, and I would say perhaps in less regularity there are transmission constraints that would have them being --


MS. ROBICHEAU:  Yes, for -- due to transmission constraints that they would be removed from.

MR. FINKBEINER:  So on that basis, we -- you've heard it mentioned we use -- other jurisdictions use LMP, or locational marginal pricing, which calculates a price point at every location on the system.

When it comes to dispatching our system, we use that model.  We just don't price that model.

So there will be instances where we are looking at how do we solve internal transmission congestion on dispatch, that they will be uneconomic relative to other generators or loads in their point.

And I would expect, although I don't have numbers, that that is also quite frequent.

MS. ROBICHEAU:  Okay, thank you.

So just a few final questions for the Elenchus experts.  You've talked a bit about -- you earlier clarified sort of what your position is around the need for a cost allocation study.  I just wanted to reconcile sort of your opening statement, which emphasized that, and your comments around that with your actual analysis in your report, which sort of suggests that a cost allocation study should be completed and discusses what that might entail.

But then you move on to speak about interruptible versus non-interruptible and sort of the principle that exports should theoretically be paying less than whatever amount it might be.

And I just wanted to sort of clarify your position on that aspect of your report that it's -- I think I understood you yesterday to say that it is offered more for demonstration purposes, to demonstrate the principle that exports may -- that interruptible service has a lower value than non-interruptible service.  Is that a fair characterization?

MR. TODD:  Yes.  That's just reflecting general regulatory principles across the board, that causal costs are a reference point.  When you've got interruptible or curtailable services, generally the revenue-to-cost ratio rules that might be there for -- in a typical rate-setting process don't apply directly, and, therefore, you bring into play things such as a discount that reflects lower value of service or the benefits to the system of being interruptible, curtailable, other factors like that.

MS. ROBICHEAU:  I think I heard you say yesterday that you're not offering an opinion on what exactly the cost of service would be - that's obviously the purpose of doing a cost allocation study - nor are you suggesting what an appropriate discount might be for exports versus loads?

MR. TODD:  That's correct.

MS. ROBICHEAU:  Those are all of my questions.

MS. CONBOY:  Thank you very much.

MR. FINKBEINER:  If I may, just for one point, Dr. Shavel did point out your question around the frequency of exports.

MS. CONBOY:  Mm-hm.

MR. FINKBEINER:  He handed me the MSP panel report.  In chapter 1 on page 81, there's a table 1-32 that does have the frequency of export congestion in the unconstrained model for the last year in it, if that is of benefit for you.

MS. ROBICHEAU:  Thank you very much for pointing that out.  Thank you.

MS. CONBOY:  Mr. Rubenstein, what sort of estimate of time have you got?

MR. RUBENSTEIN:  Thanks to the extensive cross-examination by my friends, I have no additional questions.

MS. CONBOY:  That is very efficient.  Thank you very much.  And how about re-examination?  We have Mr. King, Mr. Zacher and Mr. Vegh.

MR. ZACHER:  Madam Chair I have one quick question for Mr. Finkbeiner.

MR. VEGH:  I have none.

MR. KING:  I have none.

MS. CONBOY:  Okay, if you would like to go ahead, Mr. Zacher.
Re-Examination by Mr. Zacher:

MR. ZACHER:  Mr. Finkbeiner, Mr. Vegh asked you about a table of IESO control actions and how those impacted exporters vis-à-vis domestic customers.



And I believe you cautioned that those control actions are in respect of control area deficiencies regarding generation, but there are different rules that apply to transmission.  I'm wondering if you can just explain that at a practical level.

MR. FINKBEINER:  I will.  I will attempt to do so.  The difference -- the designation that I put on this, based on what this appendix actually does, is it deals with generation deficiencies.  That E-2 appendix looks at where we are going into shortfall from a generation adequacy perspective at the same time another jurisdiction, a partner jurisdiction, is also going through an adequacy concern.

These are the steps we would take to either -- support our neighbour to keep their lights on as we are going through struggles here in Ontario.

That is a lot different than some of the other activities that take place when we are having transmission constraint issues.  Specifically, I will point to -- I mentioned the NERC transmission loading relief procedure.  If we are having a constraint on an Ontario interface, and we employ this NERC transmission loading relief procedure to alleviate the flows or reduce the flows on that constraint, these rules do not apply.

The NERC process for transmission loading relief is consistent with this FERC 888 order, which looks at transmission reservation priority, which goes from everything from a secondary service, hourly service, daily, weekly, monthly, annual and firm service.

And that process requires curtailment on a bucket basis, meaning that the lowest priority, like a non-firm hourly, would get curtailed before a non-firm weekly, and ultimately the firm service is the highest priority.

So in Ontario, when we're to the point where it is a TLR -- what they call a TLR 5, it is just a level of curtailment.  When you're curtailing firm service, you also have to curtail equal network service, which could mean a number of things, and, at its extreme, network load curtailments.

But it also could mean significant redispatch, voltage reductions and the like.

So it was just a difference between the generation biassing that we have to do for supply and demand balance in this appendix versus when we have to curtail using a tool such as that NERC process.

MR. ZACHER:  Thank you.  Those are all of my questions.

MS. CONBOY:  Thank you very much.  Dr. Elsayed, you had a couple of questions?
Questions by the Board:

DR. ELSAYED:  I have a very general question I guess to sum up -- this is for both CRA and Navigant -- sum up your thoughts, particularly about the options that were examined in the CRA report.

If you look at the status quo, the $2, as being the reference point, and you look at the two extremes as zero and the 5.80 that you have looked at, can you just tell me at a very high level, and from the Ontario ratepayer perspective, what the consequences in your mind would be from that perspective if we were to approve one or the other?

DR. BAZILIAUSKAS:  Sure.  Is it okay if I go first?

MR. HAMAL:  Go ahead.

DR. BAZILIAUSKAS:  I think from the consumer's perspective it is a fairly simple story, in that most of the change in consumer bills comes through the change in the export tariff revenue, right, which goes to offset the Hydro One revenue requirement.

And so the way -- I think the simplest way to think about the EANC scenario where the tariff goes up is that demand -- according to our model, the demand for exports is not very elastic, so there is not a huge amount of reduction in exports when the tariff goes up.  So, therefore, the tariff revenue doesn't go down.

So, you know, it is sort of a simple calculation.  For the amount of tariffs that remain, there is a higher rate; right?  The ETS revenue goes down to the extent that tariffs go down with the higher rate, but we essentially find that the tariffs, the volume of tariffs, don't go down by that much.  Right?

Essentially, the demand is pretty inelastic.  So ETS tariff revenue goes up.  And if you -- with the EANC scenarios, if you look through the table, table 8, you will see that especially in 2013-2015 there is a very large increase in ETS tariff revenues.  And that, that's most of the change in consumer surplus.

And so on the other side -- and for the reasons, you know, because of the contractual structure of generation in Ontario and the global adjustment, the effect of changes in the tariff on the HOEP are not very big because it all kind of evens out, more or less.

And there is sort of an uplift effect, too.  But it is mostly through the revenue, either when you increase the tariff -- because demand is pretty inelastic, and so therefore you get a large increase in ETS revenues, which flows to consumers ultimately -- and in the unilateral elimination scenario, you are essentially eliminating, by definition, that tariff, so consumers lose it.

And that's essentially, you know, the story behind why consumer surplus goes down in those scenarios.

So it is fairly simple that way.

Then if you think about looking at sort of the time structure of things, if you look at the sort of the bottom line total surplus change -- so in 2017 is a bit different, because you do have an increase in total surplus.  Right?  But in later years, all the scenarios don't change total surplus that much, but there is a large change in producer and consumer surplus.  And the change in consumer surplus is because of the -- mainly because of the reasons I just discussed.

So it is really -- one way to think about it is if you use our model results for future years, you really have -- it's really kind of the consumer versus producer effect, because consumers benefit from a higher tariff because of the higher tariff revenue, which is a result of inelastic demand for exports.  And then producers benefit -- lose with the higher tariff, because they have fewer exports, essentially.

Does that help?

DR. ELSAYED:  Yes.  Thank you.

Mr. Hamal?

MR. HAMAL:  Yes.  Let me start by looking at going to the 5.80 case again.

We differ in our views.  The key comes down to this elasticity of export, as Dr. Baziliauskas talked about.

It is what comes out of their model; there is no question about that.  I don't think it is reasonable from a common sense perspective, and I have gone through in great detail, talking about what -- the mechanics of that, that cause that to happen.

This inelasticity we're talking about means that if, you know, if we were to have a tariff of $10, $20, we would still probably have large, large amounts of exports.

I don't think that is true.

I don't -- I really think the practicalities of what's really going on among traders are such that a few dollars makes a big difference, and that the calculated increase in ETS revenue, which they have at $50.8 million, is illusory.  That is not real.

And if you increase and you lose that, it is clear they lose on the market GA for market prices.  "They" being consumers directly.  They lose on those if we increase the tariff.  They lose on the uplift; not the $16.6 million, but probably much, much more than that, because you lose the trade.

The consumer surplus calculated here, which is, I believe, part of the answer, clearly goes down.  I think -- you asked the question about consumers, consumer surplus.

We could, you know -- is there a difference?  Well, I think it is worth thinking about the difference with respect to the intertie congestion revenue, certainly, because, you know, we are really down to a question of what percentage of that might go.  I think it is a large, large percentage, but even if you disagree, everything I have heard says that goes down, as well, in this case.

Let me state that more succinctly.

In the going to 5.80 case, I think we've underestimated just how poorly Ontario was hurt by the increase in tariff.  And producer surplus goes down, which may or may not, through some form, get back to consumers, as well.

So I think the case is overwhelming on the 5.80 case that that hurts consumers.

The other option you asked was the zero case.

It is a bit more complicated there in terms of the feedbacks.  I think consumers are better off, for the reasons that we have talked about.

I think these assumptions about how the model really works as opposed to what is in the analysis -- which includes SBG and the trading issue, but also includes those other issues that I talked about in terms of the real trader behaviour -- I think we have underestimated the benefits there, as well.

DR. SHAVEL:  Can I just add?  The change in the focus on the ETS revenue for the moment, in 2013, I think a 24 percent decrease -- 23.8, Cliff calculated it as -- is substantial and non-trivial, for going from two to 3.80.

It is different types of capacity in each market, and the price difference.

As you go forward in time, as Ontario has more baseload, as the cost of generation in Ontario on the margin goes down and the markets get tighter, you are going to see more of a separation and less sensitivity.  And that is what we find in 2015.

So the ETS revenue goes up by 82.8 million in 2015 in our analysis for that reason.

And then the exports are truly inelastic.  There is very small change in that year because of that.

And I disagree with Mr. Hamal.  If we went to a $20 tariff, there would be no exports.  I mean, it is a question of trade-offs between two generation sources.

And the market prices, again, as Andy was indicating, market prices assume a tariff.  That tariff of $2 current is in those futures.

If the tariff were to change, those spreads would widen, because there's still an opportunity to trade on each side of the border.

DR. ELSAYED:  Thank you.

Just one quick question that's for CRA.

Realizing that it was not part of your terms of reference to make a recommendation for a rate, but based on the analysis and discussions we have had so far, if you were to make a recommendation, which one option would you recommend?

DR. BAZILIAUSKAS:  I'm sorry.  We can't touch that.  That's not in our mandate.

But it really does depend on the weights you give to producers and consumers.

DR. ELSAYED:  From a consumer perspective?

DR. BAZILIAUSKAS:  Well, from a consumer's perspective, I mean, I think it is pretty clear based on our calculations, but we -- I mean, the -- I think the main reason we don't make a recommendation is because we understand that there is weighting of consumer benefits and benefits to others, and we -- we're not the people to assign those weights.

DR. ELSAYED:  Thank you.  That's all.

MS. CONBOY:  Thank you very much.  Well, the panel is excused, with the Board's thanks.

We will break until 2:00 o'clock, and return with Mr. Laurin.

--- Luncheon recess taken at 12:45 p.m.

--- On resuming at 2:09 p.m.

MS. CONBOY:  Thank you.  Please be seated.


Before we affirm Mr. Laurin, are there any preliminary matters?

Preliminary Matters:


MR. COWAN:  Madam Chair, we've filed Hydro One's response to undertaking J2.2, and I've left copies with Board Staff to distribute.


MS. CONBOY:  Thank you.


--- Mr. Thiessen passes out response to

Undertaking J2.2.


MS. CONBOY:  We will take note of that.  Mr. Finkbeiner, I understand you're here and willing to answer any technical questions over the afternoon, should they arise?


MR. FINKBEINER:  If you wish, yes.


MS. CONBOY:  Thank you.  You had such a good time over the past two days you couldn't leave.


MR. FINKBEINER:  Most certainly.


MS. CONBOY:  And I also understand there is no examination in-chief; is that correct?  So perhaps we could swear or affirm the witness in, please.
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Marc-André Laurin, Sworn

MS. CONBOY:  Mr. Buonaguro, I understand that you were --


MR. KING:  I am just going to get him to adopt his evidence.


MS. CONBOY:  Of course.  My apologies.

Examination-In-Chief by Mr. King:


MR. KING:  Mr. Laurin, you have in front of you your evidence with attachments, which includes your CV, which is marked as Exhibit K2.1 in this proceeding?


MR. LAURIN:  Yes.


MR. KING:  And you also have your interrogatory responses in this proceeding?


MR. LAURIN:  Yes.


MR. KING:  And they are true and accurate, to the best of your knowledge?


MR. LAURIN:  Yes.


MR. KING:  Do you accept them as your evidence in this proceeding?


MR. LAURIN:  Yes.


MS. CONBOY:  Would you like to make any opening statements, Mr. Laurin?


MR. KING:  No.


MR. LAURIN:  No.


MS. CONBOY:  Okay.  So, Mr. Buonaguro, you are first and I will remind all parties that we don't have extra time, apart from today, this afternoon, so we will have to complete Mr. Laurin's cross-examination today.  With that in mind, please go ahead.


MR. BUONAGURO:  Thank you.  I can guarantee that mine will be done today.


[Laughter]


MS. CONBOY:  All right.

Cross-Examination by Mr. Buonaguro:

MR. BUONAGURO:  And if -- I could make it quicker if I could get PC No. 11 on the screen.


Thank you.  Having been warned, I am going to move quickly.  I have several discrete questions to ask you, okay, Mr. Laurin?  Good afternoon.  This is page 3 of your evidence.  I just referred to it as the Marc-André Laurin evidence.


In the third paragraph, which you can see highlighted there, you discuss wheeling power through intermediate markets and the additional costs of doing so, and cite Ontario to PJM through the MISO as an example.  Do you see that?


MR. LAURIN:  Yes.


MR. BUONAGURO:  Now, for such a transaction, am I correct you would pay a transaction tariff to wheel the power through Ontario?


MR. LAURIN:  In that particular example, it is not wheeling through Ontario.  It is exporting energy from Ontario, wheeling through MISO and sink the energy in PJM.


MR. BUONAGURO:  Okay.  But in the example, you are paying an export tariff?


MR. LAURIN:  In MISO, yes.


MR. BUONAGURO:  Sorry, you are not paying --


MR. LAURIN:  No, we are.  You pay transmission tariff in MISO to wheel power via that market in order to sink energy in PJM.


MR. BUONAGURO:  Okay.  But are you not also paying a transmission tariff in Ontario?


MR. LAURIN:  Yes.  The transmission tariff and fee, yes, sorry.


MR. BUONAGURO:  No problem.  That's what I was looking for confirmation on.


Now, out of curiosity -- and I refer to it as wheeling in my notes, but in the transaction we're talking about, if you don't want to use the word "wheeling", to go through MISO to get to the PJM, what part of MISO would you be going through?


So, conceptually, what states are the transaction flowing through?


MR. LAURIN:  Physically, physically when you wheel energy through Ontario and via MISO, you inject at the -- out of the Michigan interface.  So in MISO, you have a fake point associated to that, which is the ISO interface.  In order to wheel through and subject to congestion price and losses, and then sell the energy to PJM, which is -- since it's coming from Ontario will be associated to enter a pricing in PJM associated where the energy is coming from.


So Western Hub is the closest hub, but since you are delivering energy from Ontario, you will be subject to the Ontario price, the IESO price, in PJM.  If you would have come from New York, it would have been New York price.


MR. BUONAGURO:  Okay.  So in this particular example, from Ontario to Michigan as part of MISO --


MR. LAURIN:  That's right.


MR. BUONAGURO:  -- and then to PJM?


MR. LAURIN:  Yes, that's right.


MR. BUONAGURO:  And I think you have already said this, but am I correct that you would have to pay transmission tariff going from MISO to the PJM?


MR. LAURIN:  That's right.


MR. BUONAGURO:  I think that's where your initial --


MR. LAURIN:  Yes, yes.  This is what I'm referring.  Wheeling power through an intermediate market is not wheeling through the Ontario market, and when you engage transaction, wheeling in another market in order to access the end of the wheeling path.


MR. BUONAGURO:  Okay.  I think if I can restate that, I guess when I use the word "wheeling", you're thinking of a transaction where you buy the power in one place, move it -- move that actual power through a market --


MR. LAURIN:  That system, right.


MR. BUONAGURO:  -- and then out the other side?


MR. LAURIN:  That's right.


MR. BUONAGURO:  That is your definition of wheeling?


MR. LAURIN:  That's right.


MR. BUONAGURO:  Where the transaction you're talking about, you're buying power in one place.  Well, you have already answered that.  I won't try to recreate it.  That's okay.


Now, with respect to -- in the example where you pay a transmission tariff to move the power from MISO to PJM, can you tell me, would that transmission tariff be MISO's point-to-point rate?


MR. LAURIN:  It's considered, yeah, like point to point, yeah.


MR. BUONAGURO:  Okay.  And would it typically be firm or non-firm point-to-point service?


MR. LAURIN:  It would depend on what is the type of available transmission.


MR. BUONAGURO:  So it could be either?


MR. LAURIN:  Yes.


MR. BUONAGURO:  Is it --


MR. LAURIN:  It is fairly the same, because you can buy monthly and it's -- for them, you pay when you use it.  You know, it is not like a typical point-to-point transmission firm service in Quebec where it's -- you take without -- you pay without if you use or not.  This one is not take or pay.  When you use it, you pay for it.


MR. BUONAGURO:  Okay.  Can you confirm that the rates for MISO, both firm and non-firm point-to-point service, are the same when expressed on an hourly or daily basis?


MR. LAURIN:  For this one, I'm not 100 percent familiar, since the part of my job is more optimizing an asset through the east side of the country, so from Ontario to New York or via Quebec.


And as far as I know, our real-time desk is active by doing that, but I am not involved, so I cannot confirm if that price is exactly the same.


MR. BUONAGURO:  That's okay.  I will turn up -- this is Exhibit I-23-1.02 which is also referred to as Staff 85, attachment 1, page 17.


This is a summary.  We have seen this actually in previous cross-examinations.  I don't know if you would have, but --


MR. LAURIN:  Yes.


MR. BUONAGURO:  But it's a transmission rate summary.  If we look at -- we find here MISO on the table expresses a monthly, a weekly, and if we can go on, day peak and day off-peak, it would appear the firm and the non-firm transmission service rates are identical.


MR. LAURIN:  Yes.


MR. BUONAGURO:  Do you have any reason not to trust this?


MR. LAURIN:  No.  I think it is fair, yeah.


MR. BUONAGURO:  Thank you.  Now, from your evidence, we note that you are a "Senior Trader - Ontario to Quebec", and that's at page 1 of your evidence.  I will show you what you said about yourself.  You see that?


MR. LAURIN:  Yes.  This is the page.  I'm just not --


MR. BUONAGURO:  Sorry, I've got this a little -- there.  Page 1 of 4.


MR. LAURIN:  Yes.


MR. BUONAGURO:  Now, would that mean that you are also involved in the sales of power from Quebec to other jurisdictions?


MR. LAURIN:  Yes.


MR. BUONAGURO:  Okay.  That means I do have extra questions for you.


Now, that would involve, for example, sales of power from Quebec to Ontario?


MR. LAURIN:  Yes, sometimes.


MR. BUONAGURO:  Sometimes, thank you.


Now, can you confirm that Hydro-Québec transmission charges point-to-point service rates that would apply as described in Exhibit L-1, schedule 11, VECC IR 7?  And I will pull it up for you.


So this is actually an answer, one of your -- I am assuming that you answered this interrogatory?

MR. LAURIN:  Yes.  I will just put that question in front of me.

MR. BUONAGURO:  Yes.  We're just confirming that when you are doing that, Quebec to Ontario, this is the service -– sorry, the transmission charge that would apply?

MR. LAURIN:  Yes.  This is right.

MR. BUONAGURO:  Okay.  And for such transactions, am I correct that the power is first bought from a Quebec source?

MR. LAURIN:  Yes.

MR. BUONAGURO:  Can you tell me who that typically would be?

MR. LAURIN:  Sorry?

MR. BUONAGURO:  Who would be the source of that power, typically?

MR. LAURIN:  Well, not a lot of producers are in Quebec.  We are.  We have some asset in Quebec.  Hydro-Québec Production have some.  Hydro-Québec Distribution have some.

And depends, other players, few of them in Quebec, but other ones might be outside Quebec, which is Labrador, but that's probably it.  For us as concerned, that's the counterparty we use to do transactions with them.

MR. BUONAGURO:  Okay.  But it sounds like, typically, it would be something Hydro-Québec-related?

MR. LAURIN:  Yes.  Beside us, you know, 95 percent of the time it will come from either Hydro-Québec Production or Hydro-Québec Distribution.

MR. BUONAGURO:  Okay.  Thank you.

Now, in page 2 of your evidence -- and I think this actually came up in the previous examination.  I will pull it up for you.

Sorry.  So this is page 2.  I am looking at the table here called "Price differential basis in US dollars for the year 2013 between NY ISO zone -- is that a zero or an O?

MR. LAURIN:  Zone O.

MR. BUONAGURO:  Sorry, "zone O and Ontario."  You can tell I do this all the time.

[Laughter]


MR. BUONAGURO:  Am I correct that the zero dollar ETS columns represent the market price differential between the two jurisdictions?  So in this case, that is the differential between zone 0 and Ontario?

MR. LAURIN:  This one, in that particular case, it is the same rationale behind different price ETS.  Okay?

What I did is I tried to come to the -- what's the net value of that spread.  So assuming the exit fee, the currency, the uplift, the FTR, transmission cost, it will give me kind of a net spread physical, assuming the curve as of that date.

So this is, in my example, is the curve as of date September 26th, if I remember.  So as of that day, if a trader would put -- would like to put a transaction in place or hedge a TR against that market, which is zone O over Ontario, it would face a forward curve looking like this.

So this, at current ETS net of physical exit fee and everything you would realize -- assuming perfect delivery, you know, assuming perfect delivery, you will capture that type of spread.  Yes.

MR. BUONAGURO:  Okay.  So the answer is yes, that that is the market price differential under --


MR. LAURIN:  That's right.  As of the September 26th.

MR. BUONAGURO:  Okay.  Thanks.

Can you tell me how these market price differentials compare with the price differential between what you would expect to pay for power from your Quebec source, and what you would expect the Ontario market price to be?


So I will put it another way.

Are the margins expected in sales from Quebec to Ontario larger or smaller than those from Ontario to the NY ISO?

MR. LAURIN:  I would say even close to no margin when you buy energy inside Quebec, because the marginal you offer in Quebec, it's not Ontario.  You know, the HQP -- and I know HQD, they try to sell at the best market.

Rarely, they're selling in Ontario.

So in order to have a trade with them, I have to be beat the market.  I have to pay better.  But if I'm not -- I cannot pay, let's say, based on Ontario price, just an example.  If Ontario price is 30 bucks, I cannot call HQ and say:  I'll buy 35.  You know, I will make a loss for that trade.

And on the other side, if HQ or the physical party in Quebec is not having appetite to sell Ontario, they will not sell, based on those prices.

So rarely, when you do a transaction with HQ - and especially for us; we never did that – it's buying below Ontario price.  It is impossible.

MR. BUONAGURO:  Okay.  So I think --


MR. LAURIN:  Unless -- unless the market changed in five years.  This is something -- everything can change, but right now currently and historically when we do business, it is not to buy in Quebec and sell in Ontario.  It is impossible.

MR. BUONAGURO:  So I --


MR. LAURIN:  No opportunity.

MR. BUONAGURO:  What I took from that is that, typically, under, I guess, current circumstances, the margin from Quebec to Ontario that you're experiencing is smaller than what we're seeing on the screen.

MR. LAURIN:  Yes.

MR. BUONAGURO:  You're saying it is actually very small?

MR. LAURIN:  That's right.

MR. BUONAGURO:  Okay.  Thank you.

MR. LAURIN:  And just to put it in perspective also, sorry, those guys are market participants in the Ontario, so why should they sell to me or to us or another party energy lower than what they are able to get?  Economically, it makes no sense.

If you are a market participant, why ask somebody else?  Or you will pay him for a kind of small profit in order to deliver their energy in the market?  Nobody will do that.

MR. BUONAGURO:  If I understand correctly what you're saying, you're saying that this scenario doesn't seem to arise because people could just buy it in Ontario directly?

MR. LAURIN:  That's right.

MR. BUONAGURO:  They wouldn't buy from Quebec?  Okay.  Thank you.

Now, would your Brookfield -- would yours or Brookfield Marketing's trading activity also involve the sale of Quebec power to markets that require wheeling through Ontario?

MR. LAURIN:  No.

MR. BUONAGURO:  Okay.  Can you explain why that would be the case?

MR. LAURIN:  Well, let's see.  We have a key asset in Quebec.  We own point-to-point service that gives us access to New England.

So before engaging transaction from our physical asset in Quebec and adding risk of wheeling through Ontario's system, and adding costs of wheeling through MISO in order to deliver in PJM, it is so huge versus the physical asset.

Because we have to keep in mind if we tie those transactions against our asset and a curtailment occurred, it's not about the wheel energy, speculatively.  It is a physical transaction that will be subject to spill.

So we don't want to go in that type of risk, because it is too risky for us.  So we mainly go, like I said, with our Quebec asset in the east side, New York or New England, but not wheeling through Ontario to go in somewhere else.

MR. BUONAGURO:  It sounds like, for a variety of reasons, it doesn't make sense?

MR. LAURIN:  That's right.

MR. BUONAGURO:  Okay.  Thank you.  Those are my questions.

MS. CONBOY:  Thank you very much.

Ms. Djurdjevic, I believe you are next?
Cross-Examination by Ms. Djurdjevic:

MS. DJURDJEVIC:  Thank you.

If you could look at page 1 of your report, the first -- sorry, the second full paragraph after the bullet points.

MR. LAURIN:  Yes.

MS. DJURDJEVIC:  About halfway through?

You talk about -- I'm jumping in mid-sentence:

"... we traders do not have perfect knowledge of the state of the market.   We need to incorporate into our business decisions an evaluation of risk."

Could you explain what type of risks you are referring to, in your experience?

MR. LAURIN:  Let me get my notes.

So basically, when we trade future -- for us, we try to secure a sustained cash flow or return out of a certain investment like TRs, you know, in order to capture a margin between market.  Okay?

And all type of risk we use is SBG -- SBG manual action might be taken by the IESO -- congestion risk, transmission tariff, uplift, intertie availability because we have to consider when the interties between the market are there and assess and try to price out a kind of -– a dollar sign on the risk of that intertie is not available.

When your export is curtailed, negative CMAC, or even when the ISO is taking some action to cut exports, you are still subject to that price if the markets go against you.

When -- depending on the intertie, sometimes it is an uncompetitive intertie, so even if you are willing to pay certain dollars, he might be claw -- the IESO, because of the type of the intertie, might claw you back that revenue.

So it is adding risk.  Okay?

Generator outage, basis risk in the neighbouring market.  You know, in the IESO we have the HOEP, but every other market around Ontario, it is LMP.

So yes, we can trade at a certain hub, but when physically you deliver at a different location, you're subject to the price differential, where you can lose money on your financial deal in order to potentially make some on the physical deal, but vice versa also can happen.

MS. DJURDJEVIC:  Thank you.

Now, you go on to say in the next paragraph that in order to manage this risk -- amongst the risks you discussed, I guess:

"An approach used extensively by Brookfield and others..."

Other traders, I presume:

"... is to enter into financial contracts, i.e., swaps and purchasing financial transmission rights."

So just to clarify, when you talk about transmission rights, these are a kind of financial instrument that in Ontario the IESO auctions, and exporters and traders purchase them and they're sort of an assurance that in the event their trade can't be executed, they receive a payment.

You weren't here, but we talked about this, you know, throughout this hearing so far, but I just wanted to confirm with you that that is what we're talking about when we talk about transmission rights.

MR. LAURIN:  FTR, yes, that's right.

MS. DJURDJEVIC:  Yes.  And now the other financial instrument that you mentioned are swaps, which are a lot more complicated.  But as I understand, they're a hedge against price fluctuations.

So now those are the two of types of hedging instruments that you have to mitigate the risk that you've described.  What -- with respect to the risk arising from the export transmission service, other than -- well, why don't you tell me.

What types of instruments or transactions can you enter into to hedge against that, or is it not realistic to sort of look at, you know, a particular type of risk, and then there is a certain kind of hedge you use against it?  Do you just sort of look at the whole bucket of risks?

MR. LAURIN:  Yes, for sure, before going into a trade, we know, and depend on the market you trade, the risk value will be different, you know.

Some market, the liquidity is much higher, so the risk is slightly lower.  When the market is so non-liquid, you have a bid-ask risk in all that type transaction.  Liquidity, volatility, it's all that type of risk we try to assess before putting a trade in place.  So we know, let's say, what's comfortable, what is the dollar we're willing to put at risk in PJM, what dollar we are at risk to put in New York and NEPOOL, vice versa, Ontario and everything.

So before putting a transaction place, even if we look at the spread -- and I can refer again the same, you know, the table that provide for the zone A.  Okay, this is the -- assuming perfect execution and everything is equal, you know, and nothing happen, this is the potential, as of that day, benefit you might make.

But those numbers, in order to arrive at that 3.36 for the on-peak and 3.77 for the off-peak, I put some own number.  My view of the risk is not the same than the view of the OPG's trader, not the same than Bruce Power's trader, the RBC speculator.  We don't have the same view or the same tolerance for the risk.

So all of that risk is driven by risk tolerance, risk reward, okay?  So when we do that type of transaction, we say we have an opportunity to go from Ontario to New York zone A in that case.

What we have to consider?  Exit fee, uplift and ETS for sure, and after that the FTR, which is the congestion risk, and after that where you will deliver the energy.  Yes, it says there zone A when you hedge financial transaction, but physically you are not delivering -- because what makes the link between two financial transaction is the physical delivery.

So you're tied to that physical delivery in order to make money at the end, is because you secure all of that risk and you flow from one point to the other.

If a transaction is cut, which is where we've tried to evaluate what is the curtailment risk, the intertie risk, is you're subject to price differential on both different markets separately.

So if you sell zone A, you buy Ontario, and transactions flow from one point to the other, everything is tied.  But if the transaction is curtailed, zero.  So you are long one side, short the other.

MS. DJURDJEVIC:  I guess what I'm trying to get at is I mean I understand how congestion is a risk.

MR. LAURIN:  Yes.

MS. DJURDJEVIC:  You might not be able to transmit.  I mean, I understand that kind of risk.  And we understand the kind of risk that you've indicated, you know, the ISO might impose if they decide they curtail, and that could be a total loss for you.

What I'm trying to get at is how the ETS rate, and in particular what -- what the rate is.  How does that contribute to risk?

MR. LAURIN:  The thing is the ETS itself, you know, zero dollar, $2, and not only for energy; everywhere.  When you have cost to trade, you know, transaction cost, when they're fixed the trader use those costs and they deal with it.  They know any transaction they will do, I will take possession against that price and I am aware I have to pay that.

But we have to know some -- we have to understand something.  If that cost increasing, increase, increase, the cost of doing the transaction versus the reward of the transaction is going lower.

MS. DJURDJEVIC:  Okay.

MR. LAURIN:  So if the reward is going lower, you might just say, Okay, I will not do business.  I will stop to do that trade, because a trader is not forced to do a transaction between neighbouring market.  It is not like when I own generation, at some point in order to have money I have to offer my generation and be paid for it.

But the trader, if opportunity is not there, will not do it.

MS. DJURDJEVIC:  Okay.

MR. LAURIN:  And this is why if the ETS going higher, higher for the same rate, rate of return or the risk-reward, if it going too low, at some point we -- and, again, I just want to restate that.  For me or somebody else, any other trader, it is not the same tolerance, you know, and we don't know that.  And this is why it is difficult to evaluate, you know, and this is why with respect with the model, the reality of the trading is all the behaviour, behaviour equal, what's related to risk reward, and this is what -- this is the portion that was very difficult to evaluate.

MS. DJURDJEVIC:  So what I heard you say, I think, you know if I understood it correctly, was -- it really clarified it for me, in that the ETS is another fixed cost that just adds to the cost of trading --


MR. LAURIN:  Yes.

MS. DJURDJEVIC:  -- and eats into potential profits?

MR. LAURIN:  That's right.  Potential profit or losses, also.

MS. DJURDJEVIC:  Correct.  So as you indicated, you know, if the fixed costs get to a certain point, and when you are looking at what the -- you know, the price is in the market where you are looking to deliver, you know, if there isn't enough of a margin or spread that makes it worthwhile, the incentive isn't there.

And is does that apply equally to SBG periods, as well as non-SBG periods, or do you find it occurs more, you know, one period for whatever, you know, numeric reasons more affected?

MR. LAURIN:  This is where it is getting tricky, you know, because go back to the first example.  You secure a certain spread for the next month, and we know those forward curve is not perfect.  It is the market view.  What they think will be the weighted average price of every day for different month, for sure the price indicate at certain period of the month we have more risk to SBG, so the price is cheaper, or less risk of SBG so the price is higher.

But when we put transaction in place, we secure that, because we pay TRs.  TR is for us an option, but more an insurance, which is -- what is the purpose in trading and finance?  An option is an insurance someone is willing to pay in order to protect and manage their risk, okay?

So this is the price.  And why sometime it is 50 cents, sometimes is a buck, two, it is how we, traders, we evaluate the risk of congestion, evaluate the spread between both market; and, yes, at the end, on a weekly basis, because we don't do only monthly transactions and let that flow and don't optimize it, you know, because at certain level, trading shop are optimizing their transactions a different way.

We have a real-time desk.  I don't know how well the other counterparty are set up, if they have 24-hour desk, but we know we do.  We optimize on weekly basis, daily basis, and monthly basis, hourly basis at the end, but this is where the SBG get going in place.

As a major issue, when you are always active and do transaction in and out because you are able to sustain a normal cash flow forward, at the end, at the delivery date, which is the physical transaction, you will decide what's the better.

Because every day you reassess your position.  What is better tomorrow?  Is it better for me to continue to flow physically both leg, or since the spread went too low, probably at zero dollar, at $1, at $2 people will just get out.

And this is why sometime when these -- you can see trades which -- we can see in the model some are loser and some are winner.

For me, probably at some point at $2 we'll not do the trade.  Probably some it is at $5.  Probably some it is at break-even.  This is where we don't know.

MS. DJURDJEVIC:  I am still trying to quantify, you know, how, you know, the ETS, even at its current $2 rate, interacts to discourage trade during SBG periods.

Like, is there something about the prices, you know, that we see in the neighbouring markets during SBG periods that, you know, makes it unprofitable to do the trade, given that there is like a $2 ETS attached to it?

MR. LAURIN:  This is where I was getting to at the end for my analysis.  We start for a longer term to secure our trading risk.  And at the end, we try to optimize on hourly basis.  For sure if we see a risk, we have our own SBG model.  We cannot just rely on the IESO, because we don't know what the IESO have, not because they're not good with respect to that.

It's because we are putting the trade on.  We are -- we should be accountable for that risk, and we try to have -- we don't know what's their assessment of hydro, nuclear, wind, coal, vice versa.

So you try to catch all of the market information knowledge you build through the year, and say, Tomorrow I expect, let's say, X amount of SBG.  IESO might say, We'll know we'll see 2,000 meg tomorrow, but we don't know what is the action they will take in order to manage that.  They might dispatch a unit off.  And what's their normal marginal unit overnight?  It is between a zero dollar or SBG situation to a normal coal plant or gas plant or hydro plant.

So this is why the risk is so huge, because when the neighbouring market, it is $15, we have to keep in mind it is not only the Ontario.  Look at price curve since 2012, 2011, are -- they are so depreciated versus 2008.

So it is -- yes, the problem is not only in Ontario.  Yes, Ontario has a big issue with SBG because the primary line is low, but neighbouring markets also are low.  They are not only -- it's not like every day you come in and:  Oh, I will buy Ontario and deliver 50 bucks on the neighbouring market.  It is not the reality.

MS. DJURDJEVIC:  Thank you.

Could you turn up -- it is going to appear on the screen -- APPrO's response to Board Staff Interrogatory No. 4?

MR. LAURIN:  Just a minute.  Yes.

MS. DJURDJEVIC:  All right.  So you had actually prepared this response.

What Board Staff was suggesting was a type of two-tiered pricing option, where the rate during SBG would be zero.

And your response was that, you know, this was not adequate, you know, that there was a level of exposure associated with the risk.

And, sorry, then the second paragraph in your response, you indicate that, you know, an ETS that was reduced during periods of SBG, this is not clear how this would be accomplished.  It would be extremely difficult to devise a rule that lowered the ETS during SBG periods and make that information available to traders within a time frame that would allow them to respond accordingly.

So hypothetically, if the IESO was to announce –- if they implemented a system where they were able to announce a day ahead that the ETS is going to be zero for a period of, say, approximately 48 hours, you know, if they anticipate there's going to be sort of an SBG period and they were able to sort of create a window, so for the next 48 hours the rate is going to be zero, and so I would think that creates some more favourable conditions for trading.

Is that -- but still gives enough sort of notice, at least day-ahead notice, and the window is open for, you know, a two-day period, is that something that might incentivize trading during SBG periods?

MR. LAURIN:  The thing is probably -- probably at the end some -- my transaction might not be -- it would be followed by the initial program or vice versa.

But as a trader, since the SBG is so risky when manual actions are taken, even if the IESO says tomorrow it is going to be zero cost to ETS, we still don't know what other.


MS. DJURDJEVIC:  Let's assume the IESO is going to say:  You know what?  We're going to let everybody know we are in an SBG period.  So we're not going to curtail, we're not going to shut down.  We're going to open this window for 48 hours, where we're going to get rid of the rate, and let's see if we can move some of this stuff, some of this SBG out of the province.

Is that something traders would be incentivized by?

MR. LAURIN:  This is something it is difficult to assess, because - let me tell you that - it's done on daily basis.

We know.  We trade next day, next week.  But based on that assessment, we cannot just -- you put a transaction on, but if SBG the cost might be lower, but if no SBG the cost will be normal.

It is impossible to trade like that.

We cannot put transaction on without knowing if really what will be the real cost.  Is it five?  Is it nine?  Is it three?  It's impossible.

So this is adding fearness (sic) in the market and a lot of risks of the trader.  And this is where the trader at some point might just say -- like I said before, they are not forced to do that trade.

So if the risk is too high -- and this is a big risk, because we don't know.  The only persons who know what will be the real impact is the IESO.

MS. DJURDJEVIC:  So if I understand what you're saying, you still look at the situation, that, you know -- let's say there is all of these other risks there.  Even if we took away the risk in this hypothetical situation, where, you know, the ETS risk was removed and, you know, you got a -- basically getting a $2 discount because it's a zero rate.

Are you saying that even with that, there's still so many other risks associated with trading during periods of SBG that it's not clear that a lower tariff would be incentivizing to traders?

MR. LAURIN:  This is where, for the record, I think it is good to clarify.  This question is different, out of -- like you said, a perfect world.

Perfect world, you know that two days ahead, IESO will curtail 2,000 megs.  They will not take any manual action.  All that, a trader might say:  For sure at zero dollar -- and it is all coming back to our analysis -- lowers the cost, greater is the risk reward and greater is the appetite to do business.

But this is assuming perfect world.  But this is not the real world.

The real world is at the end we are trading electricity, which is electrons.  We assume numbers from the past, but everything changed.  You know, it is like when you have a Jello and you press on, some Jello will go one side, some other side; but electricity, this is it.  You don't know what unit was on line, perfectly what is the incremental dollar for those generators.

So this is why it all comes to risk-reward.  If you said a zero-dollar, perfect world - perfect world - yes, I would say for sure people will have more appetite to do business, because the cost of doing transactions is significantly low for the risk they will engage.

MS. DJURDJEVIC:  Mm-hmm.  Okay.

Just to wrap up -- well, a couple of questions, but --


MR. LAURIN:  But I just want to make sure -- I just don't want to be misquoted.  No, but in the perfect --


MS. DJURDJEVIC:  It's all on the record.  The reporter is getting it all.

MR. LAURIN:  But the reality is no one's just waiting to do that type of trade.  No trader is sitting in their office.

And we don't want to go in hedging transaction because the ETS is too high, the margin is so low, but we will wait for the opportunity.  You know?  It is impossible.

What the trader is doing is if that that market gives me no opportunity to do trade in the future, forward basis, what we do, we'll going in the market where I can have a small return at greater -- with less risk, versus just put all of their -- our effort and waiting for an opportunity.

It is impossible.  No one is doing that.

MS. DJURDJEVIC:  Thank you.  Thank you for clarifying, and, you know, you just indicated very clearly in your response to that interrogatory that an ETS linked to SBG would create even more uncertainty for traders.

And that is what I hear you saying.  Even with, you know, a day-ahead notice and even with, like, a two-day window, you know, you're not persuaded that this would create more trading opportunities.

So I want to talk now about the -- some of the other two-tier options.

The ones that were suggested in the CRA study, you likely know.  Option A was a rate of 5.80 on-peak and zero off-peak; option B was 3.50 on-peak and $1 off-peak.

Navigant, of course, you know, didn't find either of those would incentivize trade or, you know, deal with the SBG issue.

Now, in the Navigant report, Mr. Hamal states at page 8 -- if you could turn that up.  So, I mean, basically Navigant's position was that a tiered rate structure would not necessarily provide benefits, but he does say in the last paragraph, starting at the second sentence:

"My analysis demonstrates that cutting the tariff in the off-peak period provides the primary source of the overall benefits."

He goes on to say:

"That does not mean, however, that the on-peak tariff can be increased with impunity."

Then if you go over to page 9 of the Navigant report, in the very last paragraph, second sentence is:

"The evidence is strong that eliminating the tariff completely in the off period provides the greatest benefit..."

MR. LAURIN:  Sorry.

MS. DJURDJEVIC:  "... if a $2.50 megawatt on-peak premium is chosen."

Which is close to what the tier B, the option B analysis was, you know, the 3.50.  But he's saying:  Look, if we go with the 2.50, it should be added to a zero off-peak rate.  The resulting tiered structure would then be zero in the off-peak, and 2.50 in the on -- on-peak.

So my question to you would be:  Looking at that type of rate structure, is that something that would reduce risk and uncertainty for traders, and possibly encourage additional trading?

MR. LAURIN:  Again, for sure -- whatever the level of the price, you know, a buck, $2, the market will deal with -- will react much more easily on the fixed costs than when it is a variable cost.

Related to tier option is not good.  I will tell you why.

It's because when we trade FTR on monthly and yearly bases, we buy TRs for the monthly, which is all hours.  So by having different tariffs we'll make potentially some period economic, but not the other.  So we will have no appetite of probably buying TR, because when you buy for the full month, if you cannot recoup those costs, you might just say it didn't work, not worth the return, because, yes -- and, again, if I can refer to my table where we can see these tiers, and the tier A says clearly it is not profitable for the on-peak; it is profitable for the off-peak.

So half of your investment which is, let's say, TR, let's say clear $1 for flat product, but if you use it only for half of the time, for your dollar you invest for 24 -- you know 24-7, and now it is half of it.  So it cost you like $2 for this -- for -- in order to manage your off-peak profit.

MS. DJURDJEVIC:  Can you then clarify to me how these transmission rights are priced?  I mean, is there -- what you're saying makes it sound like it is sort of a flat price.

MR. LAURIN:  Mm-hm.

MS. DJURDJEVIC:  You know, are there not -- I don't know, perhaps in Ontario or Quebec, but in other markets, some, you know, variations on the product so, you know, you can buy, you know, different types of TRs.

MR. LAURIN:  Yes.  But another market, they offer different TRs or TCC, they call, because also it's LMP.  You can buy on-peak -- on-peak or off-peak product, but this is also only for those markets.  You know, the --


MS. DJURDJEVIC:  Well, if Ontario decided --


MR. LAURIN:  Ontario decided to go, since they don't have LMP, which is how a trader can secure the risk of exporting from the province without paying too much and not be able to manage that price risk.  This is where the TR and the insurance coming from, or option, you know.

MS. DJURDJEVIC:  Well, if Ontario decided that, you know, it should go to a two-tier rate structure, presumably something they would need to consider along with that is, you know, some changes to the market; namely, introducing two different types of TRs, as you have indicated, on-peak and off-peak TRs that exist in other markets.

So, I mean, if that was done, I mean, do you see any other problem with moving to a two-tier rate structure where -- the $2.50 and zero?

MR. LAURIN:  The thing is, based on current market design -- and this is why the Panel is going on to review the FTR mechanism, and when that decision will be done, we'll be able to take action based on those assessment.  But right now, based on the current market, I cannot say.  Would you do the same trade if the IESO changed their mechanism?  Eventually we might.

But when we do business and trade right now is based on the current market design, and this is where a changing in the ETS based on -- we have to keep in mind, when we discuss about the ETS right now, traders already have transaction in place right now are subject to that price differential.

So that day we go we change the ETS, we'll totally change the mechanism.  And this is why I had that table in my page 2 of 4, is tomorrow, the day that ETS tariff go on, every trader will already encourage transaction spread in the market will be subject to that penalty or loss, because the price of the market will react based on that decision.

And if I can refer earlier today when they were saying, yes, that the price will tend to converge if we adjust at certain level, yes, this is trading.  An arbitrage is try to capture profit between two zones, you know.  If no price differential, nobody will arbitrage.  It is normal.

But if you increase the costs, we might increase the spread.  If you lower the cost, you might lower the spread.  But this is something the trader or the market will decide based on those rules.

Today, and even from this morning, I don't remember which doctor said it is useless, my presentation, but it is not useless.  It is what we face, every day, trader.  We come in every day.  We put transaction on based on forward curve assumption.  Are you willing to sell at that price or are you willing to buy?

And this is how, and at end it is already pricing the cost of exit fee, but tomorrow, coming in in the office, let's say, and the actual is in place, right away market will react in the opposite way and will cause severe loss.

When you cause severe loss because imperfection like that, trader will fear.  The fear will come in.  And at different level, because of risk-reward and behaviour and everything, what is the tolerance to risk, trader might just stop to do business.

And if trader reduce their activity in the dailies, you will see more risk of SBG, because less export.

It is all related one to the other.  Like I said, we're not just there to wait for the opportunity.  If another market give us the opportunity to do that type of business, we will hedge.  We will go up to delivery.  If we are not involved in long-term transaction, we'll just let that away and we'll do less business.


And that day the opportunity of SBG will come, those guys that are not active anymore will not take the opportunity to do transactions because they just -- they let that market away.

MS. DJURDJEVIC:  So I just want to try to understand, because I am not sure I got it.  I don't think I got an answer.  I mean, I understand all of the concerns and issues that, you know, are involved.

MR. LAURIN:  Yes.

MS. DJURDJEVIC:  But if there was a tiered structure where off-peak there was a zero rate and we did have a TR market that allowed parties to buy on-peak and off-peak, what I really would like to know is:  What will that do for SBG situations?

Like, would it not help at least in, you know, providing some relief to the surplus that we have if there was at least, you know, a zero rate during, you know, off-peak periods?

MR. LAURIN:  Yes.

MS. DJURDJEVIC:  Assuming the other risks, you know, that you've talked about, just assume they're not -- you know, we're not going to look at them right now.  I know it is a perfect world scenario but --


MR. LAURIN:  Definitely.  This is where it is tricky, because it is not perfect execution.

But assuming tomorrow we have on-peak and off-peak TRs, you separate the tariff, I don't know at what -- until up to what level trader will continue to be active, because like I said, again, it is all about risk, all about -- everything, every decision making by a trader is risk-reward.  That's it.

Yes, we look at the table here and let's say, assuming your tier A or 2, you can see, Oh, if we do that type of two-tier ETS, we separate the off-peak and on-peak TRs, potential of having appetite for trader off-peak, probably.

But where I say no, it's because no one is just trading peak or off-peak product.  You know, we trade as a whole.

And going back again, if the Ontario market is not providing that liquidity for trader, they will go in the market where we can manage that liquidity and try to capture those arbitrage.

MS. DJURDJEVIC:  I understand that you mean when you are trading, you're trading a portfolio, but if you're looking for trading opportunities and you see that there is something in this market -- you know, there's a zero rate off-peak, and -- you know, I mean, you're going to -- you know, you're going to go take the deals.  You're going to get the best -- make the best trades that you can, whichever market, even if they may be discrete, you know, parts of your entire trading portfolio, wouldn't they?

MR. LAURIN:  If you can just rephrase that, please?  I just want to make sure I understand.

MS. DJURDJEVIC:  Well, what I hear you saying is that, you know, there are still so many other problems and issues, that if a trader is looking at trading in Ontario and, you know, in the totality it is still not -- you know, there's still a lot of uncertainty or it is not profitable.

What I'm saying is that, you know, in terms of when you make trades, you don't decide, well, you know, I'm not going to do anything in Ontario, because it has all of these risks and these issues.

If you're going to see a window of opportunity, as I think any trader would --


MR. LAURIN:  Yes.

MS. DJURDJEVIC:  -- who is interested in making a profit --


MR. LAURIN:  Yes.

MS. DJURDJEVIC:  -- and, you know, here's a chance, you know, during this off-peak period.  There's no tariff.

MR. LAURIN:  Yes.

MS. DJURDJEVIC:  And, you know, if all other things were equal, that you would take advantage of that.  You're not going to stay out of the market.

MR. LAURIN:  Definitely, and this is where we'll take the opportunity on that case, probably.

But if -- I have heard this morning my colleague, Cliff Hamal, refer to, in the CRA model, by increasing the tariff, they were evaluating probably a reduction of 23, 24 percent of total export.

Adding fear, what's the real value of potential export you lose?  You don't know.  And this is where it is difficult.

But I think it is fair to probably assume down to
50 -- somewhere between 50 percent to 75 percent, the 25 percent -- between the 25 and 50 percent loss of export.  But the SBG situation will happen, and this is why the CRA says, We don't know.  Even when the price are so low, we don't reach the maximum capacity of export.

So we don't reach the maximum capacity of export with the $2 tariff.  Just imagine if you increase that at $5. In the real time, the trader will not be there, because as a whole it's too risky to put transaction in place for the curve.

But those guys who left, they might be there, but it's not guarantee, and it's not guarantee then the SBG management for the IESO will be easy, because they will not be able to quantify how many export I might expect tomorrow.  1,000?  2,000?  500?  3,000?  We don't know.

But one sure thing is even in severe SBG period where they refer close -- in their CRA report, close to the Christmas period, where it is obvious a lot of time you're not able to fill the intertie as an export, it is because the capacity of trading is not there; it's not enough right now in Ontario to cover that.

More risk of reducing, or losing export than adding export.  So if you increase the cost, you are adding risk, increasing the risk of losing exporters, because if -- it is all about market, market demand.  If, every day, congestion is there every day, every day you can assume:  Hey, the market has appetite to do that.  It's there sometimes, when price show up, cold weather, neighbouring market is stronger, then:  Oh.

But sustained export overnight, when severe SBG?  Not add up.  Why?  Probably because manoeuvre, price risk, but we can see clearly now it is not -- we –- rarely, we see 3,500 megawatts of export, which is not the maximum of the export capacity out of Ontario.

MS. DJURDJEVIC:  Okay.  Thank you, Mr. Laurin.  Those are all of my questions.

MR. LAURIN:  Thank you.

MS. CONBOY:  Thank you.

Mr. Rubenstein, I believe you are next?

MR. RUBENSTEIN:  I have no questions for this panel.

MS. CONBOY:  Okay.  Mr. Vegh, I've got you on the list next.
Cross-Examination by Mr. Vegh:

MR. VEGH:  Thank you, Madam Chair.

Good afternoon, Mr. Laurin.  My name is George Vegh.  I'm working for Hydro-Québec Energy Marketing, and I just have some quick questions for you on the issue of materiality.

There was a discussion this morning on materiality of the impact of the rate change, and I think from a -- I think the evidence is clear that from a residential customer perspective, there is very little material impact for a rate change.  And I think the Exhibit J2.2, which was just provided earlier this afternoon, indicated that, on a monthly basis, a residential customer faces a rate impact difference of about 19 cents a month, if the -- if the ETS tariff is reduced to zero and all of that money comes out of the revenue.

So from a residential customer perspective, it is clear that there is not a material impact.

I did want to ask some questions about the impact on the bill for an exporter, someone that participates in this market.

And one of the scenarios we have been discussing is a rate increase from $2 a megawatt-hour to $5.80 a megawatt-hour, and that is a rate increase of about 190 percent, I think.

MR. LAURIN:  Yes.  If you use a cost increasement (sic), based -- assuming roughly the current $2 and the 3.33 in the analysis of uplift, which is 5.33, potential of increase of the 5.80 will bring us around 9.15.

So kind of $4 increasement  out of the tariffs, which is around -- fairly around 75 percent increase, right away.  Tomorrow, that transmission tariff goes on, it is an 80 -- 75 percent of increase on the cost.  It's significant.

MR. VEGH:  I did want to break through all of the -- to understand the bill impact, I just want to do it a step at a time.

MR. LAURIN:  Okay.  Okay.  Yeah.

MR. VEGH:  So the first piece of this is that an increase in ETS under this scenario from $2 per megawatt-hour to 5.80 per megawatt-hour, that is the equivalent average network charge model.

As I see that, I see that as a rate increase.  Just the calculation, the number puts that at about 190 percent, from $2 to $5.80.

MR. LAURIN:  Yes.  Quickly, two bucks... yeah.  Yeah, 1.7, 1.75, yeah, which is, yes, 70 percent, probably.

MR. VEGH:  So -- and I would just ask you:  Do you consider that to be material rate increase?

MR. LAURIN:  Yes.

MR. VEGH:  Now, in terms of the total bill impact, not just the rate impact for a trader -- or for an export customer, I want to understand the components that you would have to calculate in a bill impact.

What are you billed as an exporter?  There is the transmission rate, there is HOEP?

MR. LAURIN:  Yes.

MR. VEGH:  Perhaps you can go through them for me.

MR. LAURIN:  Yes.  When you export, every megawatt you really export to the neighbourhood market, you will pay the HOEP, you will pay the ETS, the uplift, which is the hourly uplift.  It is an hourly basis.  You know, we use 3.33, but this is a weighted average.  So the uplift are for that hour.  The congestion, whether you have or not TR, this is the real settlement statement.

So all of those costs.

MR. VEGH:  Okay.  Now, is it possible for you to provide an estimate of the bill impact, looking at those components you just indicated, just so that we could have an order of magnitude?  I am assuming that -- I'm sorry.  Let me break it up a bit.

Could you provide a rough estimate of the bill impact on the assumption of, say, an export of 800 kilowatt-hours per month?  That's the number that's being used for a residential customer to measure the rate impact there.

Could you either take as an undertaking to provide that calculation, or at least provide the components of that calculation so we could do the math ourselves?

MR. LAURIN:  I just want to make sure, an undertaking in terms of explaining all of those costs?

MR. VEGH:  Yes.  So let's say you export 800 kilowatt-hours a month.  What would be the impact, to you, of an increase in the transmission rate from $2 to 5.80?

MR. LAURIN:  So in absolute dollars?

MR. VEGH:  Yes.  Yes.

MR. LAURIN:  Yeah.  Yes, we can.  It's just for sure
-- can I just make sure I understand properly your question?  So let's say in a given month we export 1,000 megs of -- 1,000 megawatts during the entire month.

MR. VEGH:  Yes.

MR. LAURIN:  What would be the impact on that 1,000 megawatts?

MR. VEGH:  Yes.  What would it have cost to --


MR. LAURIN:  For this one, let's say it's -- it is easy.  It is only 1,000 megs in my example, but it will be 1,000 megs.  This is the incremental cost due to the 5.80, so times 3.80 will be $3,800 more.

MR. VEGH:  So what I would like --


MR. LAURIN:  For that 1,000 megs.

MR. VEGH:  That's right, but that is just on the tariff piece.  I would like to see the total bill impact on an export customer.

So, you know, where you're paying a transmission rate of $2, what do you pay for a total bill to export 1,000 megawatts?

And then if you have a transmission rate of $5.80, what do you pay on the total bill to export 1,000 megawatts?

MR. KING:  Just so I am clear, this is almost like the numbers you would get on a mock settlement statement for those numbers, HOEP, the ETS, tariff, congestion or uplift, those three elements that an exporter would pay?

MR. VEGH:  That's right.

MR. KING:  At what volume?  Is it a demand or a volumetric?

MR. LAURIN:  He said megawatt-hours, so based against what?  A monthly price?

MR. VEGH:  Yes.

MR. LAURIN:  So a given month, assuming 1,000 megs of export.  And this is where it is getting -- I just want to be clear, because when you buy a total of 1,000 megs of --megawatt-hours during a month, yes, the weighted average price is, let's say, 30 bucks, but that weighted average price is 744 different hours.

MR. VEGH:  No, I appreciate that.

This is just going to be a rough comparison because, you know, we are looking at, in this case, you know, what's the bill impact.  We have had some evidence on the bill impact on a residential customer.  So it is just kind of order of magnitude kind of impact on an export customer.

MR. LAURIN:  Yes.  We can do that, for sure.  Yes.

MR. VEGH:  So yes, if you could do it just on the assumption of 1,000 megawatt-hours a month, I think that is probably the simplest.  That's the simplest for our purposes.

MR. LAURIN:  And just to make sure I understand what you are looking for, is what is the total cost of commodity, which is HOEP, exit fee, uplift, congestion and what will be the difference on the entire transaction just in -- by exceeding or increasing the ETS tariff?

MR. VEGH:  That's right.

MR. LAURIN:  Perfect.  Good.

MS. DJURDJEVIC:  Let's give that undertaking number J3.1.
UNDERTAKING NO. J3.1:  TO CALCULATE THE TOTAL COMMODITY COST TO AN EXPORT CUSTOMER OF 1,000 MEGAWATTS AT A TRANSMISSION RATE OF $2 and at a transmission rate of $5.80, using a reasonable weighted average value for hoep

MR. VEGH:  Thank you.

MR. LAURIN:  So at the end, for sure I just want to make sure, the impact, what we're looking for, to try to see what will be the impact on the commodity of 30 bucks versus commodity of 100 bucks, right?

In percentage, that is what you're looking for?

MR. VEGH:  I guess let's go to 30 and 100 --


MR. LAURIN:  That is the thing.  Right now, we are in an environment where the commodity prices are very low.  HOEP is low.  We're not in 2008 anymore, when the electricity was worth $100.

So this is why the 5.80, when I'm saying it's scare
-- it is just because 5.80, when you're in a commodity world where it is 100 bucks, it is probably not much, but when the neighbourhood markets are 35 bucks, 5.80, it is close to 25 percent of the cost.

So you are willing to probably pay out of -- you said those margins, which is two bucks' profit, but keep in mind the two bucks' profit, the trader will pay probably six to seven dollars that they put more money on the table or more money at risk versus the reward they can have.

So this is where it is risky.  We're not anymore in the environment of margin of $100 commodity.  It is not there.

And the natural gas is not showing sign of going back to ten bucks.  So those commodities will stay low in that environment for a couple of year.

MS. CONBOY:  Is there a certain assumption you'd like him to --


MR. LAURIN:  This is why via $100 or via $20 commodity in percentage is not the same thing.

MR. VEGH:  I appreciate that.  So if you could give what you think, say, a reasonable weighted average HOEP for --


MR. LAURIN:  The current conditions?

MR. VEGH:  The current conditions.

MR. LAURIN:  Okay, good.

MR. VEGH:  Thank you very much.  Those are my questions.

MS. CONBOY:  Now, I just had one other party down for cross-examination, and that is you, Ms. Robicheau; is that correct?

Cross-Examination by Ms. Robicheau:

MS. ROBICHEAU:  I believe so.  I just have a few questions.

Referring to the table on page 2 of your report -- well, I guess at the end of page 1, you say forward data for 2013 is available, which allows us to assess the likely implication of a tariff change on trading activities in the year 2013.

And I think you're referring to the data that ultimately informs this table, and if I missed it, I apologize, but where exactly did these numbers come from?

MR. LAURIN:  These come from -- are coming for every day when we trade.  The exchange are marking the forward curve every day.  So this is a third party.  It is not our own market curve, because, you know, we have to rely on those number, and we publish revenue or we manage our position forward against that third party's quote, market, because you cannot mark the mark to market, the market book, with a fake number, you know.

You have to rely on the real market curve, which is normally zone A or it's coming from ICE, which is now with NYMEX and all of that stuff.  So it is a third party who mark the curve.  So you use those curve as of date, and --


MS. ROBICHEAU:  So these are numbers -- like, under current ETS, the price differential for -- between NY
ISO --


MR. LAURIN:  I think I have --


MS. ROBICHEAU:  -- and Ontario --


MR. LAURIN:  It might help you.  At the end, in attachment 1, I have a small table, and the one we put in the document is only the result.

MS. ROBICHEAU:  Right.

MR. LAURIN:  But this table, it show clearly where that number come from.

MS. ROBICHEAU:  But I am wondering where the numbers themselves originally came from, and I think you're telling me they're from a third party --


MR. LAURIN:  Yes.

MS. ROBICHEAU:  -- that tracks this type of thing for Brookfield?

MR. LAURIN:  Yes.  It might be a different source, but all those source rely on the same main source.  It is like trading on an exchange.  You know, when the stock close at four on the stock market, this is the closing price, and it's the same mechanism we use for power, you know, in order to mark the book at the end of the day.

MS. ROBICHEAU:  Right.  I just want to understand where the numbers actually originate.

MR. LAURIN:  It is not announced.  It is not a number we put by our self.

MS. ROBICHEAU:  Okay.

MR. LAURIN:  Yes.

MS. ROBICHEAU:  I think this sort of got referred to earlier, and I just want to make sure I am following everyone's comments correctly.  I think what you have done is you have taken -- under current ETS, those are the numbers that originally came out from this third party on a monthly basis for peak and off-peak.

And then all you've done in each of the four other scenarios that are proposed, you've just -- for zero ETS, you have just added $2 onto all of the numbers, and for the EANC scenario, you have subtracted $5.80 off of each scenario, is that -- that's an accurate representation of what you've done?

MR. LAURIN:  Yes.  What I did is as of that day, okay?  Assuming the current spread as of September 26th, what is the impact of the current -- yes, we might argue and say, Yes, but in that closing day, you already assumed the $2, yeah, but I cannot assume another number.

I cannot assume or we cannot -- or we don't know.  We don't know what would be the impact on the future from having that new ETS.

MS. ROBICHEAU:  No, I appreciate that.

MR. LAURIN:  So as of that day, I said, Okay, if you have tier A, which is $5.80 on-peak and zero off, since the hour are not one for one -- you know, more hour off-peak, so I use the ratio, peak off-peak to have the proper spread in dollar per bucket.

MS. ROBICHEAU:  Mm-hm.  But the -- so if we look at two-tiered scenario A for January, in off-peak it is 6.16, whereas the under the current scenario it is 4.16, so all you have done is added that $2 deduction from what we currently charge down to the zero for off-peak.  You just added that $2 in.  So essentially the point I'm getting at is, in all of these alternative scenarios, you're basically assuming that everything else in the marketplace would stay exactly as it is to keep the price otherwise exactly as it would be, less or plus --


MR. LAURIN:  Yeah, that -- yeah, that's right.

MS. ROBICHEAU:  -- the change?

MR. LAURIN:  Purely just add that cost or reduce the cost of the ETS.

MS. ROBICHEAU:  The implicit assumption is the market would not otherwise -- other than the change in and of itself, the market would not otherwise adjust in this.

MR. LAURIN:  In this example here.

MS. ROBICHEAU:  Okay.

MR. LAURIN:  And this is the same way, when we -- if I can just compare CRA, use a linear model.  If everything is equal, the next morning when that rule go in, this is the market.  Okay, the spread might go up, but this is how the trading -- how the trader or the market will react against that type of rule change.

MS. ROBICHEAU:  I understand, okay.

And do you have any sense or any information about what the impact in trading trends was when the ETS tariff went from $1 to $2?

MR. LAURIN:  What?

MS. ROBICHEAU:  Like, historically, when it went up from one $1 to $2?

MR. LAURIN:  I don't know for -- what was the impact for the other trader.  We know one thing for us and for me.  The day the tariff went from $1 to $2, we re-evaluate the cost of doing that transaction for sure.

The next morning -- or I'm using the next morning.  It's not -- it didn't move right away through overnight, you know, but the next day when you look at that spread, is, Am I willing to take the same risk with a buck higher of transmission?  For sure it's a normal assessment of your spread.

MS. ROBICHEAU:  I understand that.

MR. LAURIN:  Then you can conclude, Oh, it's not that material, even if it was 50 percent.  You know, you can decide, okay, for the same dollar more of doing that business, I will continue to do that, or not.  And for me versus other, it might be different.

And this is why I insist on increasing costs, reduce the risk -- or increase the risk, but reduce the volatility and the liquidity on the market and increase the fairness.

Lower is the cost, more efficient is the market, you know.  More it's volatile, more it's liquid.  So it attract trader to do business when it is cheaper.

You know, if I give you a dollar to make one, or I ask you a dollar to make $1 or ask you $5 to do a dollar, the nature of the human nature will say, Hey, it's too risky.  It's normal.  No, but it is the reality.

MS. ROBICHEAU:  Everybody would like to pay the lowest fee they can for everything.

I understand that the change from $1 to $2 factored into your evaluation, but do you have any information about what the impact of that change actually was on trading trends in Ontario or the likelihood of someone in Quebec purchasing exports?

MR. LAURIN:  No, but the thing is I can say -- what's difficult for me after it's proof.  If I say, yes, I saw a big change in market, yes, a change happened, but I cannot quantify that.

You know, if you just ask me, Can you quantify what was the main driver or the main behaviour of trader that day?  I cannot.  It's not overnight.  You know, it is after a long period of time, we might try -- let's say you run a model after the fact and you will see, Can I assume that because of the increase of a dollar, we saw less exposure just because of that?  It's difficult to evaluate.

But for me, and it's -- I never look back, you know.  Trading, you have a loser yesterday.  That does not change your thinking in terms of tomorrow.  We still have to make profit by trading.  I hope we make profit, because you will not work if you are just losing, definitely, because go back to what I was said.  If trader don't make money, they will go away.

So if a company is losing money by having you in the chair, you should do nothing.  At least they will break even, and this is the same way when we look at that type of spread.  If by engaging that type of transaction will cause me more risk of doing business, I should do nothing, because I have less risk to deal with by when I am doing no transaction.

MS. ROBICHEAU:  Mm-hmm, and -- because you've -- you talk a lot in your report about sort of traders need to consider this, or this is a risk traders face, but you have also said a lot, you know, what your considerations are aren't necessarily what someone else's -- you know, every trader sort of balances that risk judgment a bit differently.

MR. LAURIN:  Mm-hmm.

MS. ROBICHEAU:  And I just wanted to sort of --


MR. LAURIN:  But for sure something I would –- I can say, I would not be surprised when that rule changed, you can see the forward spread when, let's say, when greater by -- probably not a dollar, because it is not all's -- all's equal for sure.  Especially when -- the other day we mentioned this table is worth less, and potentially the spread will open by the same dollar.  It is not true tomorrow the tariff go up, the market will -- and even if the market -- the tariff go to zero, automatically we will see the spread narrow by two bucks right away, you know.

It depends on market trader behaviour, but -- and it is the same for that particular example.  That day, I would not be surprised eventually if we, as of the date, we saw $5 spread.  Particularly - and I am just saying an example - the spread in Ontario over zone O over Ontario was $5, you increase the tariff; in order to have the same appetite of trading, the nature of the spread will go higher.

What I mean, the spread will be bigger not because zone A will go up or neighbourhood market will go high.  It's because the Ontario will be depreciated, and if the commodity in Ontario is depreciated, you have a direct impact on the producer surplus.

Assuming the same theory this morning as I said against my table, the commodity price will -- the spread will open by $3, it's not the neighbourhood market will go up.  We're facing 1,000 megs in PJM out of 100 -- 1,000 load.

In Ontario it is -- 1,000 megs, it is close to during an off-peak period, let's say, and it depends on the month, though, but let's say 15,000 megawatts primary demand overnight, 1,000 megs, it's a huge difference.

MS. ROBICHEAU:  Mm-hmm.

MR. LAURIN:  And the price will react.

So indirectly, can we assume that commodity go down, will be -- will have an impact on the OPG surplus?  On the negative side?

MS. ROBICHEAU:  Mm-hmm.

MR. LAURIN:  So just, I think, roughly it is -- they have 13 to terawatt-hours subject to that.  Just do the simple math.  Every dollar the HOEP is depreciated, the producer surplus is going down by 10 to 15 million.  Every dollar.  It is a lot.

MS. ROBICHEAU:  Right.

MR. LAURIN:  So this is why we have to keep in mind in order to make a market efficient, we need that.

We need supplier, consumer, trader, create efficiency so everything will balance perfectly -- a perfect world everything will balance, but it is not reality.  Nothing is perfectly balanced; but as a whole, I think this is where we strongly believe if the tariff is low, everything will work much better than having a bigger tariff.

MS. ROBICHEAU:  And just to confirm sort of the context I understand your evidence in, your report discusses the -- I guess the different types of risks that traders likely take into consideration when they're making a decision about whether or not to move on a particular option.

And obviously, margins are important in that consideration, because the wider the margin, the more risk you can take, I guess.

And -- but you are -- obviously, I don't think you're suggesting that you are an economic analyst or a financial modeller or that you could predict what the outcome of a change in tariff would mean at an economy-wide scale.

You can just talk about what -- the risks traders deal with in any environment, and how the margin that you're facing impacts your ability to mitigate those risks or to navigate that, and therefore to make trading deals; is that fair?

MR. LAURIN:  It's like a lot of -- I just tried to -- if my understanding is right, when you increase -- or you narrow the margin, less trading activity will happen, yes.

MS. ROBICHEAU:  Right.  I guess I'm just trying --


MR. LAURIN:  The smaller is the margin, and especially smaller is the profit margin against the risk or the dollars you invest, it is also very important.

MS. ROBICHEAU:  I am just trying to draw a distinction, I suppose, between what you are here talking to us about, which is the risks traders face, the impact of the margin on those risks --


MR. LAURIN:  Mm-hmm?

MS. ROBICHEAU:  -- and how that -- and how the ETS tariff of whatever level it is might impact margins.

MR. LAURIN:  That's right.

MS. ROBICHEAU:  But you are not giving us evidence about -- from an economy-wide standpoint or from a financial modelling standpoint -- what the impact of any ETS tariff would be overall, because you don't have any knowledge about that?

MR. LAURIN:  No.  No.

MS. ROBICHEAU:  Okay.  Those are my questions.

MS. CONBOY:  Thank you very much.
Questions by the Board:


DR. ELSAYED:  Do you have information on how frequent and in what direction the export transmission rates have been changing in neighbouring jurisdictions?

MR. LAURIN:  For sure it is something -- I don't have all on top of my head, for sure.  So much we are active in different markets, but how frequently the tariff change?  Not often.

The one we're more active, it is in Quebec.  It's a point-to-point service.  Like I said, we used to say before it is totally different, you know.

In order to do business in Quebec, you need -- it's an obligation to buy transmission in order to access the neighbourhood market, and your treatment is the same as domestic load in Quebec, you know, when you have firm transmission.

But all the New York and neighbourhood jurisdiction are optimizing, assessing their tariff, for sure it is not more -- I would say, as far as I know, not more than once or -- once a year.  At the maximum, you know.

DR. ELSAYED:  Is there a specific trend, one way or the other?

MR. LAURIN:  Sorry?

DR. ELSAYED:  A trend one way up or down, or...

MR. LAURIN:  But we can see clearly the culture now of the neighbourhood, New York, New England, PJM, it is in order to encourage trading, you know.  They -- and we can see it.  In the northeast, between control areas, they are want trading.  They're even willing and even some interfaces are trading every 15 minutes.

And in a different way, Panel, New York ISO already approach ISO about:  Is it possible even to eventually to do 15-minute trading, because we want efficiency?

But in other markets like New England -- New York -- NEPOOL, sorry, to get out of New York to go to New England, they reduced at zero dollar, in order to increase the efficiency between those control areas.

So you can see the intention of market ISOs in New York, New England, PJM, MISO.  Their intention is to increase -- increase the efficiency between market by --make new rule change of 15-minute scheduling and all of that stuff, in order to avoid the risk of big price risk.

Because longer is your period or when you can put a transaction in place -- right now, around, it is two hours ahead.  So when the trader puts the transaction in place, they're locked in for two -- the next two hours, they can do nothing.  It is not like a generator where they receive a dispatch every five minutes.  So you're on the hook for the next two hours.

If you think your strategy will change, you will cut your transaction for the hour beyond, but you are on the hook for the next two hours.  But by having 15 minutes might force the market participants to be able to have more accurate offer and ISO can dispatch megawatts from between two jurisdictions at more frequent, higher frequent period.

So it will make more efficient.  And it's clear.  It's on the tariff, and we -- even in our evidence, I think it was in -- we refer a different -- I'm not sure if it's – and again, I am just saying that without being sure we put in that document, but somewhere we can see clearly that the tariff went from $6 to lower.

And this is frequent in the Ontario -- sorry, Ontario, New York, New England and PJM MISO, and it's something can be provided for sure.

DR. ELSAYED:  Thank you.

MS. CONBOY:  Thank you.

Mr. King, have you got any redirect for your witness?

MR. KING:  No, Madam Chair.

MS. CONBOY:  Thank you.

Well, you are excused.  Merci beaucoup.

And I believe, Mr. Thiessen, you have canvassed the parties with respect to timing of argument-in-chief and final arguments?

MS. DJURDJEVIC:  Yes, Mr. Thiessen had, if you want to speak to it.  I can speak to it.

So, yes, there has been some discussion with the parties and we have come up with a proposed schedule, so with the IESO filing argument-in-chief on Friday, March 8th.

We did canvass Hydro One - since it is their application; they are the applicant - whether they would be making argument-in-chief, and the indication, at least preliminary, was that they would not.

MS. CONBOY:  Thank you.

MS. DJURDJEVIC:  So that leaves the IESO to make submissions in-chief.

Following that would be intervenor submissions on Friday, March 22nd, so that is almost two weeks after the argument in-chief.  But the intervening week is March break, so we will give everybody a break.

Then the reply argument from the IESO, if any, would follow on Friday, March 29th.

So that is the schedule we are submitting.

MS. CONBOY:  Okay.  That sounds reasonable to the Panel.

So we are done this portion of the proceeding.  Thank you very much, everybody, and safe home.

--- Whereupon the hearing adjourned at 3:30 p.m.
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